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gE-U A WA | faeioa B A (STetes) T AR (FRgRTe)| e @ QN An @ g
% IW B ATH II-Ydl 7 e 21 IH-0 & A1 G0E SN BN T Ued SuX-gRas
3 o Rar stom @ AE-IL % [0 oRed @ O qe w1 wHd Rar S sriq wler s
B ¥ O geT [@ GO B A1 9S-0e A stem

-1 & 999-09 § A 19 (5 + 7 + 7) U T 911 & O9-U 7 F 44 (16 + 14 + 14)
s &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 (5 + 7 + 7) and of Part-II are
44 (16 + 14 + 14).

o PYI T F A B Gl F 59 FoTGH H PR g 8 Fo 497 19 (5 + T +7) &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 (S + 7 + 7) questions.
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(2) 5608/(Set : A)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYIT 797 1 TG 37 & [@ B Grad F T & J9797 g T &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 739 -
() ¥8 g97-97 T 9F F e & -
T — O : STTHFE] TeT TF FEET] Gy
T - § : G @7 9T AT [l E @y
9T - - FGRIHT AGHT]
(i) ST - & oifard & wdarsf o s @ YT - F T T - T F @ BE @ GT
&T &Y/
(iii) TH G97 BT BT 81 OB T F 7F IqH THT [’T 7T &
(iv) 597 &1 5 # 3<% g FTa= &
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(3) 5608/(Set : A)
General Instructions :
(i)  This question paper is divided into three Parts :
Part — A : Not for Profit Organizations & Partnership Accounts.
Part - B: Company Accounts & Analysis of Financial Statements.
Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Internal choice is available in Question No. 5.
| -
PART - A
(TR HEIT U6 WEEN @)

(Not for Profit Organizations & Partnership Accounts)

1. & g9 4 9§ 2011-12 § 80,000 Fo T= F I Ul o1 FaAM 11 b ¥
() 1-4-2011 & FHAT F=T 5,200 Fol
(i) 1-4-2011 % AW 94 T=0 2,400 Fol
(iii) 31-3-2012 HI SHAT T 4,800 Fo
(iv) 31-3-2012 F ARH I =T 700 ol
AF-g G § T &l el TR hisT bl I ? 2
Sports Club had received ¥ 80,000 as subscription in 2011-12. Further
information is :
(i) Subscription due but not received on 1-4-2011 ¥ 5,200.
(ii) Subscription received in advance on 1-4-2011 ¥ 2,400.
(iii) Subscription due but not received on 31-3-2012 ¥ 4,800.
(iv) Subscription received in advance on 31-3-2012 ¥ 700.
What amount should be credited to Income and Expenditure Account as

subscription ?

2. Wi g GO a9 A 9 =9 Td H Hi5 g7 i i 2

Give any four points of distinction between Receipts and Payment Account
and Income and Expenditure Account.

5608/(Set : A) /| P.T.O.
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3. 1-4-2018 & UH B @ TUREN 75,000 Fo i FEH 5,000 o kg B A T
RN % Yol @A & AT 60,000 Fo © X M Rod &1 Tod A W 21 o &
A X 10% o1 B4 @l @i fied 4 ast & g @ & SR W 24,000 Fo Tedithd
P T FBH H AT AN N B P 2
On 1-4-2018 firm had assets of ¥ 75,000 including cash ¥ 5,000. The partners
Capital Account showed a balance of ¥ 60,000 and reserve constituted the rest.
Normal rate of return is 10% and the goodwill of the firm is valued at ¥ 24,000
at 4 years purchase of superprofits, find the average profits of the firm.

4. R G T T G @]t 7 Sfat qaEy 2

Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

5. ‘7 g ‘T GERR o9 # 3: 17 dieq & e Rafy o 31-3-18 &1 7 w1

B %o gREHf o
SRELES 4,15,000 | §% § 7% 2,65,000
Retd wog 40,000 | o fort 30,000
el @ IR 1,60,000
‘o 3,00,000 | ©f® 2,00,000
q 1,60,000 | e 10,000
b GG 2,50,000
9,15,000 9,15,000

1300, 2018 & ‘A’ & 1/4 AF & forg weerd § o ot W wasr fean m

(@) @ % 1,00,000 Gt 7 % 50,000 @AM & &4 § Fram fbar, e & el &
1/2 9F 97 9§’ g0 e fean o ®

(b) i g FHrGER ® 10% | HH 6T T 9 5% WEM g R0 & [ 3eR 9 09
foel 9= T T

() 9 & 20% & TF T B

(d) % 10,000 & TF TRE & ik &fd & A & ¢ &= =@ m

(€) ¥ 6,500 % TH HE S AER H AT B 98 e AE e R IEd @i
fepan

STEATE G s93U g Ref faawer s=mEu) 6
5608/(Set : A)/ |
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5608/(Set : A)

'A' and 'B' share profits in 3 : 1. Their Balance Sheet as at March 31, 2018 was

as follows :

Liabilities Rs. Assets Rs.
Creditors 4,15,000 | Cash at Bank 2,65,000
Reserve Fund 40,000 | Bills Receivable 30,000
Capital Account : Debtors 1,60,000

‘A 3,00,000 | Stock 2,00,000
'B' 1,60,000 | Fixtures 10,000
Land and Building 2,50,000

9,15,000 9,15,000

On April 1, 2018 'C' was admitted into partnership for 1/4 share on the

following terms :

(a) 'C' pays? 1,00,000 as his capital and ¥ 50,000 for Goodwill. Half of which
is to be withdrawn by 'A' and 'B'.

(b) Stock and Fixture be reduced by 10% and 5% provision for doubtful debts

be created on Debtors and Bill Receivable.

(c) Value of land and building be increased by 20%.

(d) A liability to the extent of ¥ 10,000 should be created as a claim for

damages.

(e) An item of ¥ 6,500 included in creditors is not likely to be claimed and

should be written back.

Prepare necessary Accounts and prepare Balance Sheet.

5608/(Set: A) /|
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T
OR
HERR & AIHA T B W FNREl @ el B e @ B S ® 7
IS Hal Bl Herdl § QT @l SRy 6

Why are assets and liabilities revalued at the time of retirement of a Partner ?
Prepare Revaluation Account with the help of an example by taking imaginary
figures.

AT -
PART - B
(R Eq e o fERen @ feee)
(Company Accounts & Analysis of Financial Statements)
6. 'A' o F T 'B' ffo & & ¥ 5,40,000 FH TR H1 %I B A’ [do ¥ 10% FoT9=
% 100 9ft o & AR 20% Siftem o fean oa sfaftedt 3 2

'A' Ltd. Co. purchased assets from 'B' Ltd. Co. for ¥ 5,40,000. 'A' Ltd. issued
10% debenture of ¥ 100 each at 20% premium. Pass journal entries.

7. B fio 7 635, 9% oM T 500 Ufd ke @ fRifa fhw oFw wfaftedt w1 ol ot
1 T 5% 82 W, AR M 10% HfFed ) B 2 2

'B' Ltd. issued 635, 9% debentures of ¥ 500 each. Pass necessary journal
entries if debentures were issued at 5% discount, redeemable at 10%
premium.

8. ‘Hfe@ Toi a i ded § @ of} & ? 2

State the differences between 'Reserve Capital' and 'Capital Reserve'.

9. IS & & F I T Faftedr B AR S Hr RIS diftem W oA () WfEw
e el fohdr T, (i) ST e w@m 2

Write journal entries of Share Forfeiture when the shares have been issued at
premium and when the amount of premium : (i) not received, (ii) received.

5608/(Set : A)/ |
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10. 7 Rio 3 &M o @ @=R@l T 25,00,000 X aR@ T 6,00,000 & T HF
yfied & ®9 § 10,000 GHaT S T 100 Wi HT 10% Sitem w FERE e ok
% 11,00,000 % g & ERT PN FU T SHa Hafedr 2

King Ltd. took over assets of ¥ 25,00,000 and liabilities of ¥ 6,00,000 of Queen

Ltd.

King Ltd. paid the purchase consideration by issuing 10,000 Equity

Shares of ¥ 100 each at a premium of 10% and I 11,00,000 by Bank Draft.

Pass journal entries.
11. ‘Fell & 9 Qs T S & 2

What is the difference between 'Private Company' and 'Public Company' ?

12. (a)

(b)

()

(b)

5608/(Set :

'Y o ¥ 300 g1 ¥ 10 Wi S, W T T 7 Ui A B &1, Geal AT T 2 B
TIAA T 89 W & fam 3™ & 100 ofst &1 g foee % 6 wfa ofar #
Y & Tm

g: frifa oielf @ ot & fore ot sifafteat @ 2

'Z' fffo 9 600 3l T 10 Ufey AT &1 &Y, G&eil e X 3 il A B PN A B
UM % HROT 6, qEl el % 2 ufd oisr el e HE R e 39 & 200 S
% 8 9 s Qe &l % 7 9 ofsr H g Frifte & Rar mm

qa: fmife ofslt @ et & forg St afaftedt 2

'Y' Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment
of Ist call of ¥ 2 per share. Out of these, 100 shares were immediately

re-issued at T 6 per share.
Pass the necessary journal entries for forfeiture and reissue of Shares.

Z Ltd. forfeited 600 shares of ¥ 10 each on which Ist call of ¥ 3 per share
was not received, the IInd call of ¥ 2 per share has not yet been called.

Out of these, 200 shares were reissued as < 8 paid up for ¥ 7 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.

A)/1 P.T.O.
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qMT -9
PART - C
(Fgelga Jai)

(Computerized Accounting)

6. FYUFT ATHT § AT F1 G & 7 2

What do you mean by Computerized Accounting ?

7. FYEFA q@iHT B & R SR 2

Write two features of Computerized Accounting System.

8. Rew® TEsdl F#1 & ? 2

What is Referential Integrity ?

9. GUI W U% dfrd A g 2

Write a short note on GUI (Graphical User Interface).

10. MS-Access & 3f 3@aqd g 2

Give two components of MS-Access.

11. OEde & g FHIvad saEy 2

Give two features of Electronic Spreadsheet.

12. &0 #&1 2 ? F0 9 @ R e sasw 4

What is Query ? Describe the various methods of creating Query.

5608/(Set : A)/ |
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ACCOUNTANCY
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd ol A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o F T F G B G B 57 99707 § JRT 7T 16 T 797 44 (16 + 14 + 14) &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 (16 + 14 + 14) questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
G § 25 4 @ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
(i) T8 Fo7-97 T 9 7 e & -
T — O : STTHE] TeT TF FEaT] Gy
T - § : G @7 9T AT [l E Ry

9T - - FGRHT AGHT]

5608/(Set : A)/ I P.T.O.
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(i) T - oF SffarF & e v F°OT & AT - § T AT - T F A FHE G AT

&7 &1/
(iii) GH FIT BT BT &1 JAF J97 1 G F &1 @& TGV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(i) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

T - A
PART - A
(TR HeTd ud s @)
(Not for Profit Organizations & Partnership Accounts)
1. 9 9 &G Gl a0 & ¢ 1
(A) TR o 4T (B)
(C) g= A (D) Ui &
Income and Expenditure Account reveals :
(A) Surplus or Deficiency (B) Cash in Hand
(C) Net Profit (D) Capital Account
2. GEREN da@ & o9E § T W A O 1
(A) 5% Sy (B) 6% wfqay
(C) 12% Sifcras (D) T4l ST &1 FEaM el
In the absence of Partnership deed, the interest is allowed on Partner's Capital :
(A) @ 5% p. a. B) @ 6% p. a.
(C) @ 12% p. a. (D) No interest is allowed

5608/(Set : A)/ Il
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3. HEEN @ S 1
() offEr B (B) fofeaa & et B
(C) offvard w8t & (D) 378 § Hig 7
Forming a Partnership deed is :
(A) Mandatory (B) Mandatory in writing
(C) Not Mandatory (D) None of the above

4. TSt @Rt W @ Sfae s ¢ 1
(A) w9-El @
(B) WH-giv Ao &
(C) ®ERER T @ #
T H B A
Interest on Partner's Capitals will be debited to :
(A) Profit and Loss Account
(B) Profit and Loss Appropriation Account
(C) Partners Capital Account
(D) None of the above

5. O, ‘@ O ‘W AW B HAM: 3 : 2 : 1 B UG F sfed & I A= F ardf H@
2:2: 17 dfed @1 Fofa fomm am-aiie e oo § Sedd W e EER H# O

g T 3 R ]
(A)Wa—ma qﬁa

30 30
(B) Wi ‘e —=— mﬁraiama:B

30’ 30 30

(C) @ ‘3T 3 e @ L iRy @2
30 30 30

(D)mﬁra?—mﬁrer—amal
15 10

5608/(Set : A)/ I P.T.O.
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'A', 'B' and 'C' sharing profit and loss in the ratio of 3 : 2 : 1. The partners
decide to share future profit and loss in the ratio of 2 : 2 : 1. Each Partner's
gain or sacrifice due to change in ratio will be :

(A) Sacrifice 'A' i, Gain 'B' i, Gain 'C' L
30 30 30
(B) Gain 'A' —, Gain 'B' —, Sacrifice 'C' %
(C) Sacrifice 'A' —, Gain 'B' —, Gain 'C'—
(D) Gain 'A' —, Gain 'B' —, Sacrifice 'C' %
6. T e TR & T=RT & ? 1
(A) ©fT T FIANE TR 2 (B) T U = TR B
(C) Tfy % = aedred (D) A T ST &9 8
Goodwill is what type of assets ?
(A) Goodwill is a fictitious assets (B) Goodwill is a current assets
(C) Goodwill is a wasting assets (D) Goodwill is an intangible assets
7. QN AU - 1
(A) ¥ STGA — YT ST (B) YT ST — AT STIUI

(C) YU STU — A9 Wi SFgur (D) 9 W I — YT YU
Sacrificing ratio :
(A) New Ratio — Old Ratio (B) Old Ratio — New Ratio

(C) Old Ratio — Gaining Ratio (D) Gaining Ratio — Old Ratio

5608/(Set : A)/ Il
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8. 3 T WHER TG THE H ACM 8, A a8 YU AEER H A e 1
(A) EFT-STgu H (B) U A fqe STgu |
(C) T wr fwre ergura & (D) Tt orgua #

If the new partner brings his share of goodwill in cash, it will be shared by old
partners in :

(A) Ratio of sacrifice (B) Old profit sharing ratio
(C) New profit sharing ratio (D) In capital ratio
9. I WEER H WEE{ § yaqr Rar o R 1

(A) TH HEEN & GEHid 8

(B) S R Hl HeAfd @

(C) |l QN |EERI &l Hedld &

(D) 2/3 QA @EER & deuid |

A new partner may be admitted into a partnership :
(A) with the consent of any one partner

(B) with the consent of majority of partners

(C) with the consent of all old partners

(D) with the consent of 2/3rd of old partners

10. GERR SV ‘@ @ 1 2 : 1 ¥ ged & @ H 1/3 90 & o0 w@er f@m T4 a

freTsT STUre #r &FT ? 1
A) 2:1:1 B) 3:1:2
) 4:2:3 D) 2:1:3

5608/(Set : A)/ I P.T.O.
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'A' and 'B' sharing profit in 2 : 1. They admit 'C' as a partner for 1/3 share. The
new ratio will be :

A 2:1:1 B) 3:1:2
(C) 4:2:3 D) 2:1:3
11. T & g 1
(A) e @ (B) @RI @
(C) AR e (D) ¥ @

Revaluation Account is a :

(A) Real Account (B) Personal Account
(C) Nominal Account (D) Asset Account
12, TEER % 96-FE9 & 999 @d & GO O 7 siec B o e 1
(A) STIRI T8 FH I HHER D (B) & U WEER &
(C) ¥ HEREN @ (D) I8 § Hig 7ol
On retirement of a partner, goodwill will be credited to the Capital Account of :
(A) Retiring Partners (B) Remaining Partners
(C) All Partners (D) None of the above
13. ‘97, ‘¥ 9 ‘@ GERER AW B HA: %:%:% ¥ ged 31 GERR T % STEEH T8 H
QX A1 A e STgur 8T 1
(A) 2:4 B) 1:2
1.1
< 2:1 (D) ZE

5608/(Set : A)/ Il



(7) 5608/(Set : A)

'A', 'B' and 'C' are partners sharing profits in the ratio of % : % : % New ratio on
the retirement of 'B' will be :
A 2:4 B) 1:2
1 1
C) 2:1 D) —:—
(C) o >
14. HERR & GBI TE01 & q9I G @9 9 BN & «@l 6d TR &R 7 1

(A) T WEERI & QI g H hise

(B) WRRRI & Goff @ # 2fe, [ U §

(C) ¥ 5T BRRI & Gt @) & U orgua § Bfee
(D) 9 3L GEERI & WA oFud & Gt @ 7 #iee

What treatment is made of accumulated profits and losses on the retirement of
a partner ?

(A) Credited to all partners capital account in old ratio

(B) Debited to all partners capital account in old ratio

(C) Credited to remaining partners capital account in new ratio

(D) Credited to remaining partners capital account in gaining ratio
15. ‘& &R ‘T WEER AW H FAL: 2 : 3 AP F qed W H 1/5 9V & fow wwEr

§ yaq e, S i o | S1O YU T o T4 S e STy S i 1

(A) 1:3:3 B) 3:1:1

) 2:2:1 D) 1:3:1

'A' and 'B' are partners sharing profits & losses in the ratio of 2 : 3. 'C' is

admitted for 1/5 share which he gets its wholly from 'A'. The new profit
sharing ratio after C's admission will be :

(A) 1:3:3 B) 3:1:1
< 2:2:1 D) 1:3:1

5608/(Set : A)/ I P.T.O.



(8) 5608/(Set : A)
16. 'X' AR 'Y HERR @ # 3 : 2 & dicd 91 'Z' H GEEN A @T W AN A S

FHIT IR AT A AT ST 9: 7 : 45 1
(A) 3:1 (B) 3:2
€) 1:3 D) 9:7

'X' and 'Y' are partners sharing profits in the ratio of 3 : 2. 'Z' is admitted as a
partner. Calculate sacrificing ratio if new profit sharing ratiois9:7 : 4 :

(A) 3:1 B) 3:2
€ 1:3 D) 9:7
T -9
PART - B
(O @ T foiE e @ fas)
(Company Accounts & Analysis of Financial Statements)
17. FOH § & & & B @ 1
(A) i (B) ST
(C) wmi (D) Terrd
The liability of members of a Company is :
(A) Limited (B) Unlimited
(C) Stable (D) Fluctuating
18. FA & T A B eld & ¢ 1
(A) TR (B) € Hed
(C) Gar Sferem (D) FOTG=E
Who are the real owners of a Company ?
(A) Government (B) Board of Directors
(C) Equity shareholders (D) Debentureholders
19. JAAE FH | T W FQ © ¢ 1
(A) =S (B) FHHIIN
(C) <™ (D) SIS

5608/(Set : A)/ Il
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Shareholders receive from the Company :

(A) Interest (B) Commission
(C) Profit (D) Dividend
20. dfed o fpe Oof @ AT B ? 1
(A) T @ T G (B) WM & T ol &
(C) Ui e (D) 1 ¥ T Eh @
Reserve Capital is a part of :
(A) Called up Capital (B) Paid up Capital
(C) Capital Reserve (D) Uncalled Capital
21. S HFA B YEAT HQ &, FeAC S 8 1
(A) S (B) TR
(C) X (D) ETAERR
Persons who start a company are called :
(A) Shareholders (B) Directors
(C) Promoters (D) Auditors
22. T F & AR, B & THAT 81 W SN Hl & AMG S © 1
(A) 6% dfeas (B) 10% Siqay
(C) 5% wfaad (D) 12% dfeas
Interest on Calls in arrears is charged according to Table F at :
(A) 6% p. a. B) 10% p. a.
(C) 5% p. a. D) 12% p. a.
23. JAH AT W B Bl A ¢ 1
(A) SArget # S S @ (B) SASTGST & TeR S 3
(C) =T T ¥ i S R (D) |HAT T A 9o H A e ©

5608/(Set : A)/ I P.T.O.
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Amount of Calls in Advance is :
(A) Added to Share Capital

(B) Deducted from Share Capital
(C) Shown on the Assets side

(D) Shown on the Equity & Liabilities side

24. I FF dvs TR BT A E 1
(A) LI &N X
(B) T ¥ FegiRg W W
() fomm feiRg W
(D) & & K Tl
Zero Coupon Bonds are issued :
(A) at zero interest rate
(B) with specified rate of interest
(C) without specified rate of interest

(D) None of these

25. FAE & GO W RO B AR AGH H AN © 1
(A) TI§ Ted (B) & 91§ H
(C) &HaT ST & T&t (D) &HAT ST & o1&
On liquidation of company, principal amount of debentures is returned :
(A) First of all (B) Last of all
(C) Before Equity Capital (D) After Equity Capital

5608/(Set : A)/ Il



26.

28.

(11) 5608/(Set
RO ©
(A) FE & Al (B) H & AEH
(C) F & AR (D) FH & TR
Debenture holders are :
(A) Owners of the Company (B) Customers of the Company
(C) Creditors of the Company (D) Promoters of the Company
RO A FGA B o R B
(A) G (B) STgTE
(C) i &9 | Ferd (D) oMY g
Debentures are usually ............. a company assets.
(A) Secured (B) Unsecured
(C) Partly Secured (D) Half Secured
ERE N INUNEANE ICC
(A) TTHE B T&A

(B) hdl & STqEl oY UiIhd & aaal

(C) Wed® viqid & & §

(D) 99 & fhel & fo@ ot

Debentures of a Company can be issued :
(A) For Cash

(B) For consideration other than cash
(C) As a collateral security

(D) Any of the above

: A)

5608/(Set : A)/ I P.T.O.
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29. 3T FOTEN Pl IGE HIT W L A9 Pl SEAT [Hal A & 1
(A) MM G99 | (B) ww-gI foaver &
(C) Uoirm &= # (D) OO @
Profit on cancellation of own debentures is transferred to :
(A) General Reserve (B) Statement of Profit and Loss
(C) Capital Reserve (D) Debentures Account
30. Tl KOG & NG & A& FOE MAT FoF F SR B9 @ F e oS g o A
(A) TN g En | (B) WM HeF @I A
(C) THfeT ®og @ # (D) @™ J & faawer §

Where is 'Debenture Redemption Reserve' transferred after the redemption of
all debentures ?

(A) Capital Reserve Account (B) General Reserve Account
(C) Sinking Fund Account (D) Statement of Profit and Loss
T -9
PART - C
(Tt diw)
(Computerized Accounting)
17. G .. % [T A B =R 1
(A) T FHT (B) ST
(C) @ # (D) ™ & &f
A software must be easy to ............. .
(A) Install (B) Adapt
(C) Understand (D) All of the above
18. WX HS WG & 1 @9 & 7 1
(A) TI-IW e} ¥ (B) %9 AN & &
(C) TeT % I= YOI © (D) 9 ¥ B T

5608/(Set : A)/ Il
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What is the advantage of Tailor made Software ?
(A) These are ready-made software  (B) Low cost

(C) High secrecy of data (D) None of the above

19. HGElFd dEied B v ¥ ? 1
(A) T B €WK BT
(B) el RO TR w0
(C) T @il & &
(D) Suer @l
What are the features of Computerized Accounting System ?
(A) Storage of accounting data
(B) Instantly produces different reports
(C) Group of different accounts

(D) All of the above

20. AGHT AT B AT § T 3 T BB a@l | oW Ko S g 7 1
(A) S (B)  STFetdr
(C) vEe 1 faeard (D) (A) X (B) =t

What are the factors to be considered while using accounting software ?

(A) Flexibility (B) Adaptability
(C) Interest of Management (D) Both (A) and (B)
21. ST : ]
(A) o (B) e H qE
(©) (A) ST (B) A (D) T & F T

5608/(Set : A)/ I P.T.O.



22.

23.

24.

(14)

Data is :

(A) Information (B)
(C) Both (A) and (B) (D)
SEhAOT T % B

(A) =g (B)
(€ (&) 3R (B) A (D)
The result of processed information is :

(A) Input (B)
(C) Both (A) and (B) (D)
R TN A Rl R

(A) SQL fafa (B)
(C) RST fafy (D)

The method to prepare a query is :
(A) SQL method (B)

(C) RST method (D)

5608/(Set

Collection of facts

None of these

3cge
T | B T

Output

None of these

JHL fafy
DBH fafy

JHL method

DBH method

T § HE-9 A B TN 6T g | =9 # T &9 & oo e S g ?

(A) PPMT (B)

(C) FAPM (D)

IPMT

T | B T

: A)

Which function will be used for calculating interest included in instalment of a

loan ?
(A) PPMT (B)
(C) FAPM (D)

5608/(Set : A)/ Il
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25. Al, A2, A3 &A% dcg Bl THI HH H G 708 7

(A) Sum = (Al+ A2 + A3) (B) Sum (A1, A2, A3)

(C) =Sum (Al: A3) (D) & 9 %5 -l

What is the formula for adding the value of cell A1, A2, A3?

(A) Sum = (Al + A2 + A3) (B) Sum (A1, A2, A3)

(C) =Sum (Al : A3) (D) None of these
26. BE MEHEH & U $H-a1 F™ fan o @ ?

(A) SLN (B) PRF

(C) DUD (D) LTF

Which function is used to calculate depreciation ?
(A) SLN (B) PRF
(C) DUD (D) LTF

27. HIF-A1 G AT &
(A) =(10 + 15) (B) = (B7 * Bl)
(C) (B7 + 14) (D) 14+ 15

Which formula is incorrect ?

(A) = (10 + 15) (B) = (B7 * Bl)
(C) (B7 + 14) D) 14+ 15

28. HH-A1 5T e §9 d MREY @9 & ATAM H @ fa@mm & 7
(A) B (B) Ei-IeH
(C) frm (D) @ler

1

Which symbol separates the cell addresses of the first cell and the last cell in

the given range ?
(A) Comma (B) Semi-colon

(C) Period (D) Colon

5608/(Set : A)/ I P.T.O.
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29. 3q <M & WA | G B AN HA Fpar S Fha ©

(A) & 99 g (B) T g

(C) R 3w (D) |fE e fheex &

Formula can also be copied using this option :

(A) AutoSum (B) Fill

(C) Clear (D) Sort and Filter
30. I § HIF-G1 & AE H ARAH & § ¢

() = (B) wie

(©) Preae (D) s

This area is the actual area of the chart :

(A) Chart (B) Plot

(C) Gridlines (D) Legend

5608/(Set : A)/ Il



CLASS : 12th (Sr. Secondary) Code No. 5608
Series : SS-April/2021
Roll No. SET : B

A

ACCOUNTANCY
HT-1
PART -1
(sTrts Tee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 60 (A1 : 30, AFHII : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-U A WA | faeioa B A (STetes) T AR (FRgRTe)| e @ QN An @ g
% IW B ATH II-Ydl 7 e 21 IH-0 & A1 G0E SN BN T Ued SuX-gRas
3 o Rar stom @ AE-IL % [0 oRed @ O qe w1 wHd Rar S sriq wler s
B ¥ O geT [@ GO B A1 9S-0e A stem

-1 & 999-09 § A 19 (5 + 7 + 7) U T 911 & O9-U 7 F 44 (16 + 14 + 14)
s &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 (5 + 7 + 7) and of Part-II are
44 (16 + 14 + 14).

o PYI T F A B Gl F 59 FoTGH H PR g 8 Fo 497 19 (5 + T +7) &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 (S + 7 + 7) questions.

5608/(Set : B)/ | P.T.O.
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F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYIT 797 1 TG 37 & [@ B Grad F T & J9797 g T &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 739 -
() ¥8 g97-97 T 9F F e & -
T — O : STTHFE] TeT TF FEET] Gy
T - § : G @7 9T AT [l E @y
9T - - FGRIHT AGHT]
(i) ST - & oifard & wdarsf o s @ YT - F T T - T F @ BE @ GT
&T &Y/
(iii) TH G97 BT BT 81 OB T F 7F IqH THT [’T 7T &
(iv) 597 &1 5 # 3<% g FTa= &

5608/(Set : B)/ |



(3) 5608/(Set : B)
General Instructions :
(i)  This question paper is divided into three Parts :
Part — A : Not for Profit Organizations & Partnership Accounts.
Part - B: Company Accounts & Analysis of Financial Statements.
Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Internal choice is available in Question No. 5.

| -
PART - A
(ST el O WEE @)

(Not for Profit Organizations & Partnership Accounts)

1. Rl G 9 o G @t § S SaE 2

Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

2. 1-4-2018 & TH ®H & FURET 75,000 o #ff FEH 5,000 To ke B i@ 2
RN & T @ & Q¥ 60,000 Fo & SN B Rowd & Mo R T B oo A
AR X 10% o1 B9 &l @ fUed 4 auf & o o9 & SR W 24,000 Fo Feditehd
H I BH B A A T BT 7 2
On 1-4-2018 firm had assets of ¥ 75,000 including cash ¥ 5,000. The partners
Capital Account showed a balance of ¥ 60,000 and reserve constituted the rest.
Normal rate of return is 10% and the goodwill of the firm is valued at ¥ 24,000
at 4 years purchase of superprofits, find the average profits of the firm.

3. Wi g YIOF @A 9 3@ g I @A | &g a7 AR foram) 2

Give any four points of distinction between Receipts and Payment Account
and Income and Expenditure Account.

4 wWég 79 7 a8 2011-12 F 80,000 To T< & W<t fBU o= G A TR ¥
(i) 1-4-2011 & FHAT I 5,200 Fol
(i) 1-4-2011 P H 9 F=q 2,400 ol

5608/(Set : B) /| P.T.O.



(4) 5608/(Set : B)
(i) 31-3-2012 HI SHAT T&T 4,800 Fo
(iv) 31-3-2012 F AH I F=T 700 ol
HAE-G G H =< H ol A hisT S I ? 2
Sports Club had received ¥ 80,000 as subscription in 2011-12. Further
information is :
(i) Subscription due but not received on 1-4-2011 ¥ 5,200.
(ii) Subscription received in advance on 1-4-2011 ¥ 2,400.
(iii) Subscription due but not received on 31-3-2012 ¥ 4,800.
(iv) Subscription received in advance on 31-3-2012 ¥ 700.
What amount should be credited to Income and Expenditure Account as

subscription ?

‘O T ‘T PR A9 B 3: 1 H gieq & e Rafq fqaver 31-3-18 &l 7 TR o1 ¢

IR %o gRERT o
ATER 4,15,000 | ¥ § 3 2,65,000
ESERRAS 40,000 | 97 fordt 30,000
Gsil @ ERELS 1,60,000
‘o 3,00,000 | €% 2,00,000
q 1,60,000 | e 10,000
b RG] 2,50,000
9,15,000 9,15,000

1 3B, 2018 & ‘G’ P 1/4 AN & g drEerd § 7 ot 9x o f&ar m

(@) ‘@ % 1,00,000 T&f T T 50,000 @AM & &4 F G b, Fed @ @fa &
1/2 9F ‘&7 g ‘F’ g e fomm o R

(b) &ih a MrgeR ® 10% & HH 6dT T d 5% TEEH $od kT & [T @R 9 0
foretl 9X SR T

() M & 20% & TF T &I

(d) % 10,000 & TF TRE & ik &fd & AW & ¢ &= =@

(€) T 6,500 F TH HE Sk AR H A 21 g8 & A6 Sl R SgeR @i
ERIRCI

MEIH WA T3¢ 9 Reafey faer T 6

5608/(Set : B)/ |
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'A' and 'B' share profits in 3 : 1. Their Balance Sheet as at March 31, 2018 was

as follows :

Liabilities Rs. Assets Rs.
Creditors 4,15,000 | Cash at Bank 2,65,000
Reserve Fund 40,000 | Bills Receivable 30,000
Capital Account : Debtors 1,60,000

‘A 3,00,000 | Stock 2,00,000
'B' 1,60,000 | Fixtures 10,000
Land and Building 2,50,000

9,15,000 9,15,000

On April 1, 2018 'C' was admitted into partnership for 1/4 share on the

following terms :

(a) 'C' pays? 1,00,000 as his capital and ¥ 50,000 for Goodwill. Half of which
is to be withdrawn by 'A' and 'B'.

(b) Stock and Fixture be reduced by 10% and 5% provision for doubtful debts

be created on Debtors and Bill Receivable.

(c) Value of land and building be increased by 20%.

(d) A liability to the extent of ¥ 10,000 should be created as a claim for

damages.

(e) An item of ¥ 6,500 included in creditors is not likely to be claimed and

should be written back.

Prepare necessary Accounts and prepare Balance Sheet.

5608/(Set : B) / |

P.T.0O.
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AYAT

OR
HEER & EHE T HH W TR @ ARl & TR #b e S 8 7
IS Hal Bl Herdl § JTHiH Gl SRy 6

Why are assets and liabilities revalued at the time of retirement of a Partner ?
Prepare Revaluation Account with the help of an example by taking imaginary

figures.
T - §
PART - B
(FoH @ wd i fawent @ fsden)

(Company Accounts & Analysis of Financial Statements)

6. T o 7 W fo @ g=i@l T 25,00,000 AN &R¥@ T 6,00,000 & @ H7
yed & ®9 § 10,000 FHaT S T 100 Wi HI 10% SWitem w R R ok
% 11,00,000 ¥& g & EN AW [T T SHa Hafted HX 2

King Ltd. took over assets of ¥ 25,00,000 and liabilities of ¥ 6,00,000 of Queen
Ltd. King Ltd. paid the purchase consideration by issuing 10,000 Equity
Shares of ¥ 100 each at a premium of 10% and ¥ 11,00,000 by Bank Draft.

Pass journal entries.
7. TR &R 9 ‘HEeE F T o SR B 7 2
What is the difference between 'Private Company' and 'Public Company' ?

8. 'A ftTo FHI 7 'B' f[ifo &I @ T 5,40,000 & THRT &1 T fHam 'A' o 7 10% Fomq=
Z 100 9T o= & i 20% Siftme @ fean sHa it & 2

'A' Ltd. Co. purchased assets from 'B' Ltd. Co. for ¥ 5,40,000. 'A' Ltd. issued
10% debenture of ¥ 100 each at 20% premium. Pass journal entries.

5608/(Set : B)/ |



10.

11.

12.

(7) 5608/(Set : B)

'B' ffo 3 635, 9% o9 T 500 9f Roqe @ i fhu oo sfaftedt &% afy o

F A 5% B2 W, SR M 10% HifFed @ B 2 2

'B' Ltd. issued 635, 9% debentures of ¥ 500 each. Pass necessary journal
entries if debentures were issued at 5% discount, redeemable at 10%
premium.

dfea i 7 Tolrm de § @ o ® 7 2

State the differences between 'Reserve Capital' and 'Capital Reserve'.

g F O HW B oW et B R it & T Sftew W oa (i) Siftem
o el fodr T, (i) ST e w@m 2

Write journal entries of Share Forfeiture when the shares have been issued at
premium and when the amount of premium : (i) not received, (ii) received.

(@) 'Y ffo I 300 a1 T 10 wfd i1 FMC T, T 7 iy ST F ST, Bl A=MANR 2 B
TAE T 8W W & fomm & & 100 ofeft & ¢F: fow ¥ 6 o g o
T fear @
g it ofell o o=l % fow o sfaRedr Ht 2

(b) 'Z' fffo F 600 A T 10 Ufey A &1 &I, Y&l e X 3 il ST B PN A B
UM % HRO {6, gE0 AT % 2 Ui oY 1l T 4TS R e 39 & 200 3
% 8 9 s qofed &l X 7 9 ofsr H g Frifte & Rar
g: Frifa el @ o=t & forg S sfaftedr &) 2
(@) 'Y' Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment

of Ist call of ¥ 2 per share. Out of these, 100 shares were immediately

re-issued at X 6 per share.
Pass the necessary journal entries for forfeiture and reissue of Shares.

(b) Z Ltd. forfeited 600 shares of ¥ 10 on which Ist call of ¥ 3 per share was
not received, the IInd call of ¥ 2 per share has not yet been called. Out of

these, 200 shares were reissued as X 8 paid up for I 7 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.

5608/(Set : B) /| P.T.O.
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qMT -9
PART - C
(Fgelga Jai)

(Computerized Accounting)

6. MS-Access & 3 3@aqg g 2

Give two components of MS-Access.

7. D B g [Ava TaEy 2

Give two features of Electronic Spreadsheet.

8. FYUFA ATHT | AT F1 G & 7 2

What do you mean by Computerized Accounting ?

9. FYUFA AT B & AT T 2

Write two features of Computerized Accounting System.

10. FRYH e #1 & 2
What is Referential Integrity ?

11. GUI R T GG e o 2

Write a short note on GUI (Graphical User Interface).

12. &0 &1 2 ? F0 99 @ R e sasw 4

What is Query ? Describe the various methods of creating Query.

5608/(Set : B)/ |



CLASS : 12th (Sr. Secondary) Code No. 5608
Series : SS-April/2021

Roll No. SET : B
A

ACCOUNTANCY
AT - 11
PART - II

(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
[ o=l wd ol A |
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

o F T F G B G B 57 99707 § JRT 7T 16 T 797 44 (16 + 14 + 14) &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 (16 + 14 + 14) questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
G § 25 4 @ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
(i) T8 Fo7-97 T 9 7 e & -
T — O : STTHE] TeT TF FEaT] Gy
T - § : G @7 9T AT [l E Ry

9T - - FGRHT AGHT]

5608/(Set : B)/ I P.T.O.
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(i) T - oF SffarF & e v F°OT & AT - § T AT - T F A FHE G AT

&7 &1/
(iii) GH FIT BT BT &1 JAF J97 1 G F &1 @& TGV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

T - A
PART - A
(TR Hed Ud wsEr @)
(Not for Profit Organizations & Partnership Accounts)
1. F-2F @l JERid & @ ¢ 1
(A) oTfeeRT o &H! (B) %% A9
(C) & @™ (D) Gt @
Income and Expenditure Account reveals :
(A) Surplus or Deficiency (B) Cash in Hand
(C) Net Profit (D) Capital Account
2. Ui @ FIOE @ @ 1
(A) R @ (B) dr&ide @rdl
(C) -9 @l (D) JE(qd Td AHAE @ !
Receipts and Payments Account is :
(A) Personal Account (B) Real Account
(C) Nominal Account (D) Real and Nominal Account Both

5608/(Set : B)/ Il
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3. WEEN iU ¥ & o HH | H9 fhaq efdd 8 =Ry ? 1
A) 2 B) 7
(C) 10 (D) 20
What should be the minimum number of persons to form partnership firm ?
(A) 2 B) 7
(€) 10 (D) 20
4. TEER TG B oo T el A B 1
(A)  SfeERer
(B) UNE T
(C) WEER & R
(D) @EE & =i+

Partnership deed is also called :
(A) Prospectus

(B) Article of Association

(C) Principles of Partnership
(D) Articles of Partnership

5. ¥ M STgUe : 1
(A) A0 STIUT — T ST

(B) YU STIUI — AR ST

(C) T ST — YT ST

(D) R ST - T ST
Gaining Ratio :

(A) New Ratio — Sacrificing Ratio
(B) Old Ratio — Sacrificing Ratio
(C) New Ratio — Old Ratio

(D) Old Ratio — New Ratio

5608/(Set : B)/ I P.T.O.
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6. T U HEER & AU W : 1
(A) G HH H GEIGH & S @
(B) I EERERI & GHOE & S o
(C) YU WEERI T ®H &1 & §HIGT 81 Sl o
(D) 7 @ WEEN AR T & FH FH GO B @
On the admission of a new partner :
(A) Old firm is dissolved
(B) Old partnership is dissolved
(C) Both old partnership and firm are dissolved
(D) Neither partnership nor firm is dissolved
7. T g AN 21 F T A AW ded 31 A HB 1/4 Rw R EER SR T S
A R ® 3/4 W A T 1/4 W F I FIA 81 T S BT 1
A) 2:1:1
B) 23:13:12
C) 3:1:1
(D) 13:23:12

'A' and 'B' share profits in the ratio of 2 : 1. 'C' is admitted with 1/4 share in
profit. 'C' acquires 3/4 of his share from 'A" and 1/4 of his share from 'B'. The
new ratio will be :

A 2:1:1
(B) 23:13:12
) 3:1:1
(D) 13:23:12

5608/(Set : B)/ Il
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8. IR} 9 UEER Y BF @l g & Uiy ke H a1 B, O 39 NI A e w4

(A) T @ |
(B) ¥ WEER & O @ #
(C) e @I H

(D) PN TERR & $f @n §

When a new partner brings his share of goodwill in cash, the amount is
debited to :

(A) Goodwill A/c
(B) Capital A/c of new partner
(C) Cash A/c

(D) Capital A/c of old partners

9. [l HERER &l Tg B W Iqhl & U TR fhaes @1 § wise &l sl ? 1
() & EEE B O d
(B) ¥ wEE F o @ &
(C) I8 IUUEHN & @1d |
(D) &R & G @d
On the death of a partner, the amount due to him will be credited to :
(A) All partner's Capital Accounts
(B) Remaining Partners Capital Accounts
(C) His Executor's Account

(D) Governments' Revenue Account

5608/(Set : B)/ I P.T.O.
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10. ‘@, ‘S qur G gPRR ¥ S 1/4 : 3/10 : 9/20 F UG F QW dfed ¥, W B

FIHIT FET X TN ST B 1
(A) 6:5 B) 5:6
(C) 4:3 (D) 4:10

'A', 'B' and 'C' are partners sharing profits in the ratio of 1/4 : 3/10 : 9/20.
The new ratio on the retirement of 'C' will be :

(A) 6:5 B) 5:6
(€C) 4:3 (D) 4:10
11. ¥ERK & = O & 99 & & 1
(A) Sfe (B) #iee A9
(C) ST Jrerar hisT AW (D)  Sfae 7 hisT a9
Balance of partner's current accounts are :
(A) Debit Balance (B) Credit Balance
(C) Debit or Credit Balance (D) Neither Debit nor Credit balances
12. B & U O X & @ 1
() T g B) i it
(C) @i (D) ™

For the firm interest on capital is :
(A) Capital payment (B) Capital Receipt

(C) Loss (D) Income

5608/(Set : B)/ Il
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13. 01-01-2019 % TH HEHER F HH & 1,00,000 X & FO1 Ran ¥Ed & A9@ H

31-03-2019 H IgH F YT &N BT : 1
(A) g (B) % 1,500
(C) 3,000 (D) % 6,000

On 01-01-2019, a partner advanced a loan of ¥ 1,00,000 to the firm. In the
absence of agreement, interest on loan on 31-03-2019 will be :

(A) ¥ NIL B) 1,500
(C) 3,000 (D) %6,000

14. IR H3 GHER TA% WE B gUH AR uh [iREd W e & 8, @ e &
AR W .o Al 1 A Il STl 1
(A) 6 B) 6%
(C) 5% (D) 12
If a fixed amount is withdrawn by a partner on the first day of every month,
interest on the total amount is charged for ......... months.
(A) 6 (B) 6%
(C) 5% (D) 12

15. T O S AW e H 3 : 5 F dfed gL H T A GEER A 1 P, 2019 § F
BT I T STU 7 dfed W T8Ad gU ATH-81 fadee 7 aRad & RO, ‘T B A

TR ST 1T 1 e B8R ¢ 1
() T s (B) e st L

3 1
(© @ (D) @ -

'A' and 'B' were partners in a firm sharing profits or losses in the ratio of 3 : 5.
With effect from 1st April, 2019 they agreed to share profits or losses equally.
Due to change in profit sharing ratio, A's gain or sacrifice be :

(A) Gain > (B) Gain ~
8 8

(C) Sacriﬁce% (D) Sacriﬁceé

5608/(Set : B)/ I P.T.O.
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16. TN TH ........... R B

(A) FFH (B) =g

(C) HIsE™ (D) od

Goodwill is a .......... asset

(A) Fictitious (B) Current

(C) Wasting (D) Intangible

{1 -9
PART - B
(® @ T i e & )
(Company Accounts & Analysis of Financial Statements)

17. SN FEA D oo, g &l

(A) e (B) w@r

(C) R (D) IF F § Fi5 T

Shareholders are the ........... of the company.

(A) Customers (B) Owners

(C) Creditors (D) None of these
18. TH FHH & HEEl B & Bl © -

() i (B) ST

() fex (D) wRadwsf

The liability of members in a company :

(A) Limited (B) Unlimited

(C) Stable (D) Fluctuating

5608/(Set : B)/ Il
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19. TF ol H7 § qeedl H SAfeebas §e 2l o 1
A) 7 (B) 200
(C) 20 (D) e dM &
Maximum number of members in a Private Company is :
A) 7 (B) 200
(C) 20 (D) No limit
20. T FUAE & QEIUGR e SR 7 8 1
(A) T H B) Tt &
(C) TisT &l (D) |H

Preference share of a Company represents :

(A) Loan (B) Capital

(C) Dividend (D) Assets
21. USigd Yol AT &1 AT Bl B 1

(A) @fer gl

(B) Frifter ol

(C) i el

(D) ST F & Fi3 T

Registered capital is the part of :

(A) Reserve Capital

(B) Issued Capital

(C) Subscribed Capital

(D) None of the above

5608/(Set : B)/ I P.T.O.
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22. 3 & Wity # stfedy g Bl R

(A)
(€)

5%
Hig e T

(B)
(D)

Maximum limit of premium on shares is :

(A)
(C)

5%

No limit

23. RN & e ®

(A)

(C)

SR

AT T ST a1

Debentureholder receives :

(A)

(C)

Dividend

Both Dividend and Interest

24. S O &S R B S

(A)
(B)
(C)

(D)

T & & T/

74 fEiRd = ¥ ®
fT gd MeiRg & /W W
S | H B3 TE

Zero Coupon Bonds are issued :

(A)
(B)
(€)

(D)

5608/(Set :

At zero interest rate
Specified rate of interest
Without specified rate of interest

None of the above

B)/ I

(B)
(D)

(B)

(D)

(B)

(D)

5608/(Set :

10%
100%

10%
100%

= |
CIRLs|

Interest

Bonus

B)
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25. RO B TEEE T & w9 7 FEHT A W DE-91 G biee 6T S @ ? 1
(A) OO G
(B) % T @

(C) F9H &iiRd @rar

(D) kU9 I Gl

On issue of debentures as collateral security, which account is credited ?
(A) Debenture Account

(B) Bank Loan Account

(C) Debenture Holding Account

(D) Debenture Suspense Account

26. @I § WU B W& B I AW Bl SKOART (bl ST © 1
(A) FH e |
(B) g feeer §
(C) Uit de A
(D) RO & @A

Profit on cancellation of own debentures is transferred to :
(A) General Reserve

(B) Statement of Profit & Loss

(C) Capital Reserve

(D) Debenture Account

5608/(Set : B)/ I P.T.O.
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27. =&Y MY MA@ & g sAe S © 1
(A) 3 9w
(B) ®feT AW
() 7 & sfae ok 7 afee
(D) a1 @ Sfee A hise
Balance of Sinking Fund Investment Account always shows :
(A) Debit Balance
(B) Credit Balance
(C) Neither Debit nor Credit Balance
(D) Either Debit or Credit Balance

28. FqF e @iy @ R 1
(A) g (B) TR
(C) =d (D) ™

Loss on issue of Debentures is :

(A) Asset (B) Liability
(C) Expenses (D) Income

29. 1= & @ frm Ooft @1 Rafy faamer # ‘sisr T i & ofria 6f R@mr s 8 7 1
(A) Rl o (B) e oo
(C) ot st (D) @i goit

Which of the following is not shown under the heading 'Share Capital' in a
Balance Sheet ?

(A) Subscribed Capital (B) Issued Capital

(C) Reserve Capital (D) Authorised Capital

5608/(Set : B)/ Il
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30. TF H @ fage # ‘ofwr TN ofide & or=riq daq oF # i 9w © 1
() T i (B) wffq sier Oofr
(C) Frif sfsr Gof (D) SRR sfer it

In the Balance Sheet of a company, under the heading 'Share Capital' at the
last is shown :

(A) Authorised Capital (B) Subscribed Share Capital
(C) Issued Share Capital (D) Reserve Share Capital
i -9
PART - C
(Fgeliga qaie)

(Computerized Accounting)

17. f=ifciea fafal & @ w 99 § 3o & 9 & [T g9 T2 {6 S |@ear © ¢ 1

(A) T AR ol S (B) 39 &I a&FI
(C) Esc Fsil &M (D) I & | 5 &l
Which of the following methods cannot be used to enter data in a cell ?
(A) Pressing an arrow key (B) Pressing the Tab key
(C) Pressing the Esc key (D) None of the above
18. Fslie N & Fr=fofead & @ HF-a1 Th gl #ed el § 7 1
(A) THgH AT B (B) il H HMPRT B
(C) L N 3 (D) ahsiic & AL
Which of the following is not a basic step in creating a worksheet ?
(A) Save workbook (B) Modify the worksheet
(C) Enter text and data (D) Copy the worksheet

5608/(Set : B)/ I P.T.O.
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19. &l ¥ W T fewalEl # Fed g 1
A) we feg (B) ¥« feu
(C) a9 feu (D) M fey
Comments put in cells are called :
(A) Smart tip (B) Cell tip
(C) Web tip (D) Soft tip
20. TF G H QM H THH TOFT H T Tl © 1
(A) ATE G (B) &l g
(©) w T (D) ifed &
Multiple calculations can be made in a single formula using :
(A) Standard formula (B) Array formula
(C) Smart formula (D) Complex formula
21. BEWWH B T o 1
() e (B) FET FEL
) f= (D) IUUET Tl
Hyperlinks can be :
(A) Text (B) Drawing objects
(C) Pictures (D) All of the above
22. RAged 37 99 Hise E. F. Codd &RI SHRT 71 11 /3T 1
The relational database model was created by E. F. Codd. True/False

23. @G ¥, 7 Aedic § gulRd e oar ?, Rred dfemt ok #few 8 &1 g /etEd 1

In a database, data is stored in Spreadsheets which have rows & columns.

True/False
24. UF 39 § o7 &R fed & Tl /378 1
A database has data and relationships. True/False

5608/(Set : B)/ Il
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25. T% 299 &I ‘W@-qU’ FHal Il 8, Hifh 599 @a H [qaxer adr 8l T /3 1

A database is called "Self-describing" because it contains a description of itself.

True/False
26. FHET Yol fhg MR W faesfea Rl o € 7 1
(A) T STEEROT (B) @ uRrest
(©) @ (A) @R (B) (D) @ o T
Accounting packages are developed on the basis of :
(A) Accounting Concept (B) Accounting Conventions
(C) Both (A) and (B) (D) None of the above
27. JTHRRET Yol e JHR P HiFedaX & ? 1
(A) e g (B) TSI TFeadX
(C) gfeferdt digedar (D) 3t
What type of Software is an accounting package ?
(A) System Software (B) Application Software
(C) Utility Software (D) Basic
28. FYTUEA TG UMl & §TF & 1

(A) =T, RUE, @ 98, 4i9eawy, e
(B) WftedaR, BEaa, o, dfskar

(C) ST, IS, Tichdl, Igagd, HSYS

(D) W, SishaT, BRI, WX

The components of computerized accounting system are :

(A) Data, Report, Ledger, Software, Hardware
(B) Software, Hardware, People, Procedure
(C) Data, Coding, Procedure, Objective, Output

(D) People, Procedure, Hardware, Software

5608/(Set : B)/ I P.T.O.
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29. M F T § TG ST & FHCT | 8

(A) TERET, TS IR el

(B) Yo, T, A, o ok =
(C) wwafE, sfd, o oIk =g

(D) of, 3ITaIE, o iR =™

5608/(Set :

Grouping of Accounts means the classification of data from :

(A) Assets, Capital and Liabilities

(B) Assets, Capital, Liabilities, Revenue & Expenses

(C) Assets, Equity, Revenue & Expenses

(D) Capital, Liabilities, Revenues & Expenses

30. fqwd &1 gq :
(A) UEEE e
(C) 31 &%

Choose the odd one out :

(A) Password Security

(C) Data Bank

5608/(Set : B)/ Il

(B) eI Sffee
(D) e dfce

(B) Data Audit
(D) Data Vault
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A

ACCOUNTANCY
HT-1
PART -1
(sTrts Tee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 60 (A1 : 30, AFHII : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-U A WA | faeioa B A (STetes) T AR (FRgRTe)| e @ QN An @ g
% IW B ATH II-Ydl 7 e 21 IH-0 & A1 G0E SN BN T Ued SuX-gRas
3 o Rar stom @ AE-IL % [0 oRed @ O qe w1 wHd Rar S sriq wler s
B ¥ O geT [@ GO B A1 9S-0e A stem

-1 & 999-09 § A 19 (5 + 7 + 7) U T 911 & O9-U 7 F 44 (16 + 14 + 14)
s &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 (5 + 7 + 7) and of Part-II are
44 (16 + 14 + 14).

o PYI T F A B Gl F 59 FoTGH H PR g 8 Fo 497 19 (5 + T +7) &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 (S + 7 + 7) questions.

5608/(Set : C)/ | P.T.O.
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F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYIT 797 1 TG 37 & [@ B Grad F T & J9797 g T &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 739 -
() ¥8 g97-97 T 9F F e & -
T — O : STTHFE] TeT TF FEET] Gy
T - § : G @7 9T AT [l E @y
9T - - FGRIHT AGHT]
(i) ST - & oifard & wdarsf o s @ YT - F T T - T F @ BE @ GT
&T &Y/
(iii) TH G97 BT BT 81 OB T F 7F IqH THT [’T 7T &
(iv) 597 &1 5 # 3<% g FTa= &

5608/(Set : C)/ |
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General Instructions :
(i)  This question paper is divided into three Parts :
Part — A : Not for Profit Organizations & Partnership Accounts.
Part - B: Company Accounts & Analysis of Financial Statements.
Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Internal choice is available in Question No. 5.

| -
PART - A
(ST el O WEE @)

(Not for Profit Organizations & Partnership Accounts)

1. 1-4-2018 & TF BH & TEREN 75,000 Fo & {EH 5,000 To UHs & iy &
RN & Yol @A & AT 60,000 Fo © X I Red &1 Tod fpar W 21 o &
A X 10% o1 4 &l @i fed 4 ast & g @ & TR W 24,000 Fo Tedithd
P T FH H ARG A T B P 2
On 1-4-2018 firm had assets of ¥ 75,000 including cash ¥ 5,000. The partners
Capital Account showed a balance of ¥ 60,000 and reserve constituted the rest.
Normal rate of return is 10% and the goodwill of the firm is valued at ¥ 24,000
at 4 years purchase of superprofits, find the average profits of the firm.

2. ‘I T 9 ‘o O @t § oY qau 2
Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

3. WEH &9 I a¥ 2011-12 # 80,000 Fo TR % W byl o7 AW =t v ¥
(i) 1-4-2011 & FHEAT =T 5,200 ol
(i) 1-4-2011 & FAPH 9 F=1 2,400 Fol
(iii) 31-3-2012 H FHEAT =T 4,800 ol
(iv) 31-3-2012 i F I =T 700 ol
MGG @A H =< &l fhasl TR s B S ? 2

5608/(Set : C) /| P.T.O.
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Sports Club had received ¥ 80,000 as subscription in 2011-12. Further
information is :
(i) Subscription due but not received on 1-4-2011 ¥ 5,200.
(ii) Subscription received in advance on 1-4-2011 ¥ 2,400.
(iii) Subscription due but not received on 31-3-2012 ¥ 4,800.
(iv) Subscription received in advance on 31-3-2012 ¥ 700.
What amount should be credited to Income and Expenditure Account as
subscription ?

4. G g GO @4 9 AT 9 =9 Td H B3 g7 i A 2

Give any four points of distinction between Receipts and Payment Account

and Income and Expenditure Account.

5. ‘7 g ‘T GERR o & 3: 17 dieq & e Rafy o 31-3-18 &1 7 w1

RG] %o REHIRT %o
ATER 4,15,000 | ¥ § 3 2,65,000
Red o 40,000 | W ot 30,000
TSl @t - IR 1,60,000
37’ 3,00,000 | €% 2,00,000
q 1,60,000 | g 10,000
9 o waw 2,50,000
9,15,000 9,15,000

1 3B, 2018 1 ‘G’ P 1/4 AN & T dr@erd § 7 ot 9X e f&ar m

(@) ‘@ F% 1,00,000 T&it T T 50,000 @Afq & & F M b, ed & @i @
1/2 9N 97 9§’ g0 Wbt fovam o ®

(b) ith q HRLER B 10% & FH a1 TN G 5% TadM g R0 & [T SR 9 >
foel O S T

() M & 20% & 5 T &I

(d) % 10,000 & TF TRE & Sk &fd & AW & ¢ &= =@

(€) T 6,500 @ TH AT Wb A& H O 21 g8 & A el @R SHe @i
ERIRCI

AT G IR 9 Refd feaver SR 6

5608/(Set : C)/ |
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'A' and 'B' share profits in 3 : 1. Their Balance Sheet as at March 31, 2018 was

as follows :

Liabilities Rs. Assets Rs.
Creditors 4,15,000 | Cash at Bank 2,65,000
Reserve Fund 40,000 | Bills Receivable 30,000
Capital Account : Debtors 1,60,000

‘A 3,00,000 | Stock 2,00,000
'B' 1,60,000 | Fixtures 10,000
Land and Building 2,50,000

9,15,000 9,15,000

On April 1, 2018 'C' was admitted into partnership for 1/4 share on the

following terms :

(a) 'C' pays? 1,00,000 as his capital and ¥ 50,000 for Goodwill. Half of which
is to be withdrawn by 'A' and 'B'.

(b) Stock and Fixture be reduced by 10% and 5% provision for doubtful debts

be created on Debtors and Bill Receivable.

(c) Value of land and building be increased by 20%.

(d) A liability to the extent of ¥ 10,000 should be created as a claim for

damages.

(e) An item of ¥ 6,500 included in creditors is not likely to be claimed and

should be written back.

Prepare necessary Accounts and prepare Balance Sheet.

5608/(Set : C) /|

P.T.0O.
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T

OR
HERR & AIHY T B W FNREl @ el B e # B S ® 7
I ol B FERAT § JTHeAIB Gl SET 6

Why are assets and liabilities revalued at the time of retirement of a Partner ?
Prepare Revaluation Account with the help of an example by taking imaginary

figures.
1 -9
PART - B
(® E1q e femitg et @ fagey)
(Company Accounts & Analysis of Financial Statements)
6. ‘e Gof’ g ‘Teima de H 7 o & ? 2

State the differences between 'Reserve Capital' and 'Capital Reserve'.

7. A9 B BT FE P ST TRt B R} et H T SiftEw w e @ (@) SifteEw
o el foRdr T, (i) SR o fear @m 2

Write journal entries of Share Forfeiture when the shares have been issued at
premium and when the amount of premium : (i) not received, (ii) received.

8. 7 ffo ¥ ®M fHo & wwf@l ¥ 25,00,000 X T T 6,00,000 & fdC H7
gfred & &9 F 10,000 THAT $feT ¥ 100 WA ST 10% Siftem w et R ok
% 11,00,000 ¥& FFE & BN AW [T T SHa Hafedr HX 2
King Ltd. took over assets of ¥ 25,00,000 and liabilities of ¥ 6,00,000 of Queen
Ltd. King Ltd. paid the purchase consideration by issuing 10,000 Equity
Shares of ¥ 100 each at a premium of 10% and I 11,00,000 by Bank Draft.

Pass journal entries.
9. Tl F g ‘HESih HHAI F o SR B 7 2
What is the difference between 'Private Company' and 'Public Company' ?

5608/(Set : C)/ |
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11.

12.

(7) 5608/(Set : C)

'A' o I 3 'B' [ifo ¥ & T 5,40,000 H TR H1 BT fHam 'A' fifo I 10% Foma
¥ 100 Ui ROT9s & e 20% SiftEw W@ fean sHa wfeiedr & 2

'A' Ltd. Co. purchased assets from 'B' Ltd. Co. for ¥ 5,40,000. 'A' Ltd. issued

10% debenture of ¥ 100 each at 20% premium. Pass journal entries.

'B' [fo 3 635, 9% U9 T 500 9 Roqe @ R fhu o sfaftedt &% afy o
F A 5% BE W, SR M 10% Hfed X [ 2 2

'B' Ltd. issued 635, 9% debentures of ¥ 500 each. Pass necessary journal
entries if debentures were issued at 5% discount, redeemable at 10%

premium.

(@) 'Y foto ¥ 300 Sfer T 10 Wiy ofer MW M, T 7 Uy A H &, Teol ATM L 2 B
TAE T 8W W & fomm &8 & 100 ofeft & ¢F: fow ¥ 6 o g o
&Y fear mm
g Frifa sl @ Sf=it & forg S sifafteat & 2
(b) 'Z' [Wo T 600 L T 10 HiT HA T &, Tl el X 3 Wil AL BN PRI 7 BT
UM % HROT 6, qEl el % 2 uf oisr el e AME R e 39 & 200 3
% 8 9 ois e &l % 7 9 ofsr H g Frifte & Rar
g: Frifa oielf @ ot & fore oiar sifaftedt @ 2

(a) 'Y' Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment
of Ist call of ¥ 2 per share. Out of these, 100 shares were immediately

re-issued at T 6 per share.
Pass the necessary journal entries for forfeiture and reissue of Shares.

(b) Z Ltd. forfeited 600 shares of ¥ 10 on which Ist call of ¥ 3 per share was
not received, the IInd call of ¥ 2 per share has not yet been called. Out of

these, 200 shares were reissued as X 8 paid up for I 7 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.

5608/(Set : C) /| P.T.O.
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qMT -9
PART - C
(Fgelga Jai)

(Computerized Accounting)

6. [FRSIHS TGSl 1 & ? 2

What is Referential Integrity ?

7. GUI T U% dierd A o 2

Write a short note on GUI (Graphical User Interface).

8. MS-Access & 3 3aaqg g 2

Give two components of MS-Access.

9. e H g [AvaW FaEy p)

Give two features of Electronic Spreadsheet.

10. FYTUFA qQ@iHT § A FT T & 7 2

What do you mean by Computerized Accounting ?

11. FEFA EieT & & e sy 2

Write two features of Computerized Accounting System.

12. 8 791 ® ? 00 9 & R it gasu 4

What is Query ? Describe the various methods of creating Query.

5608/(Set : C)/ |
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o F T F G B G B 57 99707 § JRT 7T 16 T 797 44 (16 + 14 + 14) &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 (16 + 14 + 14) questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
G § 25 4 @ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
(i) T8 Fo7-97 T 9 7 e & -
T — O : STTHE] TeT TF FEaT] Gy
T - § : G @7 9T AT [l E Ry

9T - - FGRHT AGHT]
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(i) T - oF SffarF & e v F°OT & AT - § T AT - T F A FHE G AT

&7 &1/
(iii) GH FIT BT BT 81 JA%F J97 1 G F &1 @& TGV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

| - A
PART - A
(TR HeE TE e @)
(Not for Profit Organizations & Partnership Accounts)
1. -9 @ 4 e o 8 % ATl 1
(A) Faq SRR S (B) &ad TSI it
(C) 3 ST T YoIT Spfy (D) &% < 78

Income and Expenditure Account record transactions of :
(A) Revenue nature only (B) Capital nature only

(C) Both Revenue and Capital nature (D) None of these

2. T A FAN F 0 @l de S T H A © 1
(A) TEE § T AT (B) I
(C) %A Ih (D) S a4l
Source of Income for a not-for-profit organization is :
(A) Subscription from members (B) Donation
(C) Entrance fees (D) All of the above

5608/(Set : C)/ Il
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3. WERN IR ¢ 1
(A) e & (B) STty & ®
(C) =™ g eifa &r 2 (D) @EEr stfyfvaw g fheifa & @
Liability of a Partner is :
(A) Limited (B) Unlimited
(C) Determined by Court (D) Determined by Partnership Act

4. WEEN @49 § 9@ 7 EER & {6 | &6 e S © 1
(A) 5% dferas (B) 6% My
(C) 12% dfeas (D) & el & S

In the absence of Partnership deed, the interest is allowed on Partner's Capital :

(&) @ 5% p. a. (B) @ 6% p. a.
(C) @ 12%p. a. (D) No interest is allowed
5. YT ciHT @l © 1
(A) arEdaF Emr (B) KRR @
(C) A e (D) &R g

Revaluation Account is a :

(A) Real Account (B) Personal Account
(C) Nominal Account (D) Asset Account

6. 9 I WEER TN H RN THE A 8, A 36 Hlec BT S 1
(A) I T @n (B) W & A HRERI & on @t §
(C) M wEeR & G @t | (D) @f wEER & E @t |

5608/(Set : C)/ Il P.T.O.
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When a new partner brings goodwill in cash, it is credited to :
(A) His Capital A/c (B) Sacrificing Partners Capital A/c
(C) Old Partners Capital A/c (D) All Partners Capital A/c

7. T q A GBI B 4 1 & U H Sied T WEER o ‘T o 6 & 1/4 T«
A oo R W 1/2 A % U @ B ¢ S UF 91 WEER o | & fw

BT ? ]
(A) % (B) 1

1 3
(€) 10 (D) 10

'A' and 'B' are partners sharing profit and loss in the ratio of 4 : 1. 'A
surrenders 1/4 of his share and 'B' surrenders 1/2 of his share in favour of
'C', a new partner. What will be the 'C's share ?

w2 ® <
© o
8. S 7Y GERER MUY R @ @i # AR Ths F A A, @ 39 R A SfAe A A
(4) kg @ A (B) ™ @ ¥
(C) ¥ ¥EER & g @ A (D) TN WEER & Eoff @ §
When new partner doesn't bring his share of goodwill in cash, the amount is
debited to :
(A) Cash A/c (B) Premium A/c
(C) Current A/c of new partner (D) Capital A/cs of old partners

5608/(Set : C)/ Il
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9. fhal TEER & STEHIY T8 W MY H AT [BH FbX [Har ofar & 7 1

(A) Remaining Partner's Capital A/c Dr. (In Gaining Ratio)

To Retiring Partner's Capital A/c
(B) Remaining Partner's Capital A/c Dr. (In New Ratio)

To Retiring Partner's Capital A/c

(C) Goodwill A/c Dr.

To All Partner's Capital A/cs (In Old Ratio)
(D) Goodwill A/c Dr.

To Retiring Partner's Capital A/c (In Old Ratio)

How goodwill is recorded on the retirement of a Partner ?

(A) Remaining Partner's Capital A/c Dr. (In Gaining Ratio)
To Retiring Partner's Capital A/c

(B) Remaining Partner's Capital A/c Dr. (In New Ratio)

To Retiring Partner's Capital A/c

(C) Goodwill A/c Dr.

To All Partner's Capital A/cs (In Old Ratio)
(D) Goodwill A/c Dr.

To Retiring Partner's Capital A/c (In Old Ratio)

10. ‘T, & AR A @ERR S 4 : 2 : 1 % UM H B H AN Fd 2 AW
THA TEU A 81 ‘T X A, ‘AP & W FH TE-aEK 91C dq g1 79 ard-faes

STUIT B 1
(&) 5:2 B) 5:3
€) 9:5 (D) 4:2

5608/(Set : C)/ Il P.T.O.
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'A', 'B' and 'C' have been sharing profits in the ratio of 4 : 2 : 1. 'C' retires. 'A’
and 'B' take 'C's share equally. New profit sharing ratio will be :

(A) 5:2 B) 5:3
€ 9:5 (D) 4:2

11. %9 & 1Y ST W &AW © 1
(A) T g (B) =
(©) Yot it (D) oM™
For the firm interest on drawings is :
(A) Capital Payment (B) Expenses
(C) Capital Receipt (D) Income

12. HEEN 09 & J9E § WEER & R W & &Fr S ¢ 1
(A) 5% aI¥® H & 9 (B) 6% aIu® @ & 9
(C) 7.5% A @ I | (D) 12% a4 &t & 9

In the absence of partnership deed, the allowable rate of interest on partner's
loan account will be :

(A) @ 5% p.a. (B) @ 6% p.a.
(C) @ 7.5% p.a. (D) @ 12% p.a.

13. FERRI & Toil IREdHsi B W HA-9 @0 @ S § ¢ 1
(A) Fa T & (B) ¥aw = ER
(C) T @@ Jar =g @w (D) ST I ofemar = @

5608/(Set : C)/ Il
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Which accounts are opened when the capital are fluctuating ?
(A) Only Capital Accounts

(B) Only Current Accounts
(C) Capital Accounts as well as Current Accounts

(D) Either Capital Accounts or Current Accounts

14. IR P GEER TOF TE B AW Y B v FiRg i omever #xar ®, @ emewer @

A WA W oo T8 T A TN S &l 1
A) 12 (B) 6%

(C) 55 D) 6

If a fixed amount is withdrawn by a partner on the last day of every month,
interest on the total amount is charged for ............... months.

A) 12 (B) 6%

) 5% D) 6

15. ‘U qor ‘P U BH F -2 B 2 : 1 F gied &1 1 999, 2019 ¥ T A Bl B
T U A dle H Tedd g TSI [T oTgu A URekd & HRT Tow B

Y Ui STeEr T H few e o 1
(A) wm‘a’l,w‘a’l (B) W‘a’l,wqﬁr‘a’l

6 6 6 6
(C) wqﬁa%wa% (D) EIFTGT%WWEI%

'A' and 'B' were partners sharing profit and losses in the ratio of 2 : 1. With
effect from 1st January, 2019, they agreed to share profits & losses equally.
Individual partner's gain or sacrifice due to change will be :

(A) Gain by 'A’ %, Sacrifice by 'B' % (B) Sacrifice by 'A' %, Gain by 'B'

(C) Gain by 'A’ %, Sacrifice by 'B' % (D) Sacrifice by 'A'’ %, Gain by 'B'

5608/(Set : C)/ Il P.T.O.
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16. THM AEERI 3 g 7 Hiz Ff oRadd (ed 9099 sevd 99 8 S ® R T

T B BT ISl © A 39 @l Sl & ¢ 1
(A)  FEET B T (B) |ERN H e
(C) STy T et (D) & & FE & T

Any change in the relationship of existing partners which results in an end of
existing agreement and make a new agreement is called :

(A) Revaluation of Partnership (B) Reconstitution of Partnership
(C) Realization of Partnership (D) None of the above
T -9
PART - B
(® E1q e femitg et @ fagey)
(Company Accounts & Analysis of Financial Statements)
17. um )1 MG e af@ @ w1 S g 1
(A) THEH HEEE (B) WERERI ®H
(C) FF (D) ST Tt
An artificial person created by Law is called :
(A) Sole Tradership (B) Partnership Firm
(C) Company (D) All of the above
18. FHAI % RS W@l B Bd © 1
(A) TR (B) € Hed
(C) Gar Sferem (D) FOTG=E
Who are the real owners of a Company ?
(A) Government (B) Board of Directors
(C) Equity shareholders (D) Debentureholders
19. SR & & | e 2 1
(A) =S (B) FHHIIN
(C) <™ (D) SIS

5608/(Set : C)/ Il
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Shareholders receive from the Company :

(A) Interest (B) Commission
(C) Profit (D) Dividend
20. S AR HE B TSN A O A 5 IH FBT A @ 1
(A) TR (B) fafwoms
(C) Heram (D) FOEmT
A person who invests in the capital of a company is called :
(A) Creditor (B) Investor
(C) Shareholder (D) Lender
21. €@ Gt # 7 W @ S gER S R 1
(a) i wE (B) #ift 7 G
() i i (D) ST F § HE T
Reserve Capital is also known by :
(A) Capital Reserve (B) Called up Capital
(C) Subscribed Capital (D) None of the above
22. S R FE B ATH FQ 8, I el Sl 8 - 1
(A)  SirET (B) HdA®
(C) vad® (D) Sibe®
Persons who start a company are called :
(A) Shareholders (B) Directors
(C) Promoters (D) Auditors
23. Th ROGEE HAHA B © 1
(A) R aig (B) i H e
(C) F H qfeT SAEdR (D) FiEd | & ==

5608/(Set : C)/ Il P.T.O.
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A debentureholder is entitled to :

(A) Fixed Dividend (B) Share in Profits
(C) Voting rights in a Company (D) Interest at fixed rate

24. FAE & TAO W KOG b qAET H AE B © 1
(A) T TEd (B) GQ 9% &
(C) oar sfer Toft & wed (D) &l SfeT ESft & A

On liquidation of a Company, principal amount of debenture is returned :

(A) First of all (B) Last of all
(C) Before equity capital (D) After equity capital
25. TerEd goyfd & w9 Frf B T seEl ) Rar S e 1
(A) R % Sfhd I W (B) i3 AN el A S
(C) RO & BY &Y eI W (D) RO & Fhel Tod T
Interest on debentures issued as collateral security is paid on :
(A) Nominal value of debentures (B) No interest is paid
(C) Face value of debentures (D) Paid up value of debentures
26. FUGE H M GBI S HERA @ 1
(A) @ TR ERT (B) Gl SR F T HTh
(C) R & (D) ST a4 &

Debentures can be redeemed :
(A) By annual drawings (B) By purchase in open market

(C) By conversion (D) By all of the above
5608/(Set : C)/ Il
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27. RifET ®og AFERT & <t shiee A s ¢ 1

28.

(A) 9B feee |

(B) UMM @99 @d H

(C) RifeT wue fafv@ @ o

(D) f&feT ®ve @ |

Interest on Sinking Fund Investment will be credited to :
(A) Statement of Profit & Loss

(B) General Reserve Account

(C) Sinking Fund Investment Account

(D) Sinking Fund Account

RO SNe SRR & s 1
(A) R G
(B) ar&diides @
(C) SHHE T
(D) ST Tt

Premium on redemption of debentures Account is :
(A) Personal Account

(B) Real Account

(C) Nominal Account

(D) All of the above

5608/(Set : C)/ Il P.T.O.
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29. SRR T B
(A) & TST B AT
(B) ST e SN H AR
(C) E=RT & AT
(D) O & GANT W AR W AT GO B ART
Reserve Capital is a part of :
(A) Paid up Capital
(B) Forfeited Share Capital
(C) Assets

(D) Capital to be called up only on liquidation of Company

30. T FUA H QEIUGR Y AT B 2

INEEE B) Tt &
(C) <A A (D) &9
Preference share of a company represents :
(A) Loan (B) Capital
(C) Dividend (D) Assets
T -9
PART - C
(Ftiga e
(Computerized Accounting)
17, oo, T FR B SN U 3@ A Qe @ o dd B
(A) 3 R SEIM (B) ¥
(C) ey (D) ugEE
............. is a property that describes various characteristics of an entity.
(A) ER Diagram (B) Column
(C) Relationship (D) Attribute

5608/(Set : C)/ Il
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18. oereeeaannn. W 91T 2 % 2 HH-A1 397 3oy § dufed & olX oo S @ ey
2 1
(A) R® &) (B) dioTpd &Y
(C) I=E &R (D) IR § ¥ HF 78

............. level describes what data is stored in the database and relationship

among the data ?
(A) Physical Level

(C) Conceptual Level

19, oo, I~ AT S S

(D) faQivar wM & @ g

............. denote derived attributes.

(A) Double ellipse
(B) Dashed ellipse
(C) Squared ellipse

(D) Ellipse with attribute name

20. oo, A I FHS Bl
(A) e el
(C) &g FHoil

5608/(Set : C)/ I

(B) Logical Level

(D) None of these

(B) SHIEIR FHoil
(D) Jeieqes FHot

9
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............. is the minimal super key.

5608/(Set : C)

(A) Primary Key (B) Candidate Key
(C) Unique Key (D) Alternate Key
21, oo feeh womel W WM & AT H T B B 1
(A) fewp AR (B) RS FeR
(C) AU AR (D) ST & | Hi§ T&
............. manages the allocation of the space on the disk storage.
(A) Disk Manager (B) File Manager
(C) Memory Manager (D) None of the above
22, TR 0 g & T B GRIEER) 1
Foreign Key can be null. (True/False)
23. HgUE AST H ST Hh B FIIR JRb STUEH 3T dIR & T ol 1
(v rerce)
Using relational model we design conceptual database design. (True/False)
24. TAEST § HH § HF T &9 8 AAETH ol GRIEER) 1
Tables are required to have at least one column. (True/False)
25. IHEAR ol A B qE Sl GRIEER) 1
Candidate Key can have a null value. (True/False)

26. TEIAT .oovvnneneee. % [T SEM BT =Ry
(A) T FH (B) STFHRT
(C) o™ H (D) =8 9 &t
A Software must be easy to ............. .
(A) Install (B) Adapt
(C) Understand (D) All of the above

5608/(Set : C)/ Il
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27. 3G AE HiteaqX d ;T @ & 7 1
(A) TI-IN e} ¥ (B) %Y AN & &
(C) erer & oo g B (D) & & P15 T

What is the advantage of Tailor made Software ?

(A) These are ready-made software  (B) Low cost

(C) High secrecy of data (D) None of the above

28. FFYUFA q@id B F1 A § 7 1
(A) STEl &l ®WR HAT
(B) Sl RO YR &
(C) TR @ml & T
(D) ST Tt
What are the features of Computerized Accounting System ?
(A) Storage of accounting data
(B) Instantly produces different reports
(C) Group of different accounts

(D) All of the above

29. AGHT AT H YA § T & o0 b qw@l W e & S R ? 1
(A) T (B) ST
(C) vEe 1 fasard (D) (A) X (B) =t

What are the factors to be considered while using accounting software ?
(A) Flexibility (B) Adaptability
(C) Interest of Management (D) Both (A) and (B)

5608/(Set : C)/ Il P.T.O.
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30. [T 1
(A) G (B) &l @ qE
(€ (&) R (B) T (D) T & Fig T
Data is :
(A) Information (B) Collection of facts
(C) Both (A) and (B) (D) None of these

5608/(Set : C)/ Il



CLASS : 12th (Sr. Secondary) Code No. 5608
Series : SS-April/2021
Roll No. SET : D

A

ACCOUNTANCY
HT-1
PART -1
(sTrts Tee)
(Subjective Questions)
ACADEMIC/OPEN

[ &=l ud SfEsh Hregw ]
[ Hindi and English Medium |
(Only for Fresh/Re-appear Candidates)

77 : 21 ge] [ g% : 60 (A1 : 30, AFHII : 30)
Time allowed : 21 hours] [ Maximum Marks : 60 (Part-I : 30, Part-II : 30)

gE-U A WA | faeioa B A (STetes) T AR (FRgRTe)| e @ QN An @ g
% IW B ATH II-Ydl 7 e 21 IH-0 & A1 G0E SN BN T Ued SuX-gRas
3 o Rar stom @ AE-IL % [0 oRed @ O qe w1 wHd Rar S sriq wler s
B ¥ O geT [@ GO B A1 9S-0e A stem

-1 & 999-09 § A 19 (5 + 7 + 7) U T 911 & O9-U 7 F 44 (16 + 14 + 14)
s &

Question paper is divided into two Parts : Part-I (Subjective type) and Part-II
(Objective type). Answer the questions of both parts in your answer-book. Part-I
of question paper with answer-book will be provided with starting of
Examination and last one hour of Examination will be given for Part-II i.e.
question paper of Part-II will be provided before one hour of the end of
Examination.

Total questions in question paper of Part-I are 19 (5 + 7 + 7) and of Part-II are
44 (16 + 14 + 14).

o PYI T F A B Gl F 59 FoTGH H PR g 8 Fo 497 19 (5 + T +7) &

Please make sure that the printed pages in this question paper of Part-I are 8 in
number and it contains 19 (S + 7 + 7) questions.

5608/(Set : D)/ | P.T.O.



(2) 5608/(Set : D)
F97-Y5 7 qlle7 &1 @ AT 79 T4 #S TR T @ B G FI-YAH % FI-IT G [0g)

The Code No. and Set on the right side of the question paper should be written by
the candidate on the front page of the answer-book.

FYI T H T [T @ 7 7 e, JIT B BB AT (1G]

Before beginning to answer a question, its Serial Number must be written.
FIC-Gi&THl & & @il g1/ 91 T 8

Don’t leave blank page/pages in your answer-book.

FTCYRTH % SfARET FE o e T& A o eleaEdgar & @ siv frar gav T
FIC

Except answer-book, no extra sheet will be given. Write to the point and do not
strike the written answer.

gereff sTar T To FIT-UH T 9T [orE)

Candidates must write their Roll Number on the question paper.

FYIT 797 1 TG 37 & [@ B Grad F T & J9797 g T &l & GhET YU 59
T 7 g o qrar w&hHe T8 RAr Aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 739 -
() ¥8 g97-97 T 9F F e & -
T — O : STTHFE] TeT TF FEET] Gy
T - § : G @7 9T AT [l E @y
9T - - FGRIHT AGHT]
(i) ST - & oifard & wdarsf o s @ YT - F T T - T F @ BE @ GT
&T &Y/
(iii) TH G97 BT BT 81 OB T F 7F IqH THT [’T 7T &
(iv) 597 &1 5 # 3<% g FTa= &

5608/(Set : D)/ |



(3) 5608/(Set : D)
General Instructions :
(i)  This question paper is divided into three Parts :
Part — A : Not for Profit Organizations & Partnership Accounts.
Part - B: Company Accounts & Analysis of Financial Statements.
Part — C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(iii) All questions are to be attempted. Marks of each question are indicated
against it.

(iv) Internal choice is available in Question No. 5.

| -
PART - A
(ST el O WEE @)

(Not for Profit Organizations & Partnership Accounts)

1. Wi d I O g A g 57 G § s 7 Fal [y 2

Give any four points of distinction between Receipts and Payment Account
and Income and Expenditure Account.

2. Wi F@9 ¥ a§ 2011-12 & 80,000 Fo T F A b o oA 71 TR &
() 1-4-2011 & FHAT I 5,200 Fol
(i) 1-4-2011 & APH 9 F=1 2,400 Fol
(iii) 31-3-2012 HI SHAT T&T 4,800 Fo
(iv) 31-3-2012 F ARF I =T 700 ol
HAT-FF A | =<l fhaml WA HeT & Ta ? 2
Sports Club had received ¥ 80,000 as subscription in 2011-12. Further
information is :
(i) Subscription due but not received on 1-4-2011 ¥ 5,200.
(ii) Subscription received in advance on 1-4-2011 ¥ 2,400.
(iii) Subscription due but not received on 31-3-2012 ¥ 4,800.
(iv) Subscription received in advance on 31-3-2012 ¥ 700.
What amount should be credited to Income and Expenditure Account as

subscription ?

5608/(Set : D) / | P.T.O.



(4) 5608/(Set : D)
3. ‘W G g ‘o G @nt 7 Sfav qaEy 2

Distinguish between 'Fixed Capital' and 'Fluctuating Capital' Accounts.

4. 1-4-2018 & UH B & GEUREATN 75,000 o & REH 5,000 To UHs & W T
TERR & T @ & Q¥ 60,000 Fo & SN B Rowd & Mo fwar T B oo &
HHE & 10% &1 BH I @i e 4 asf & o @ & AR W 24,000 Fo GeAiihd
P T FH H ARG AN T B P 2

On 1-4-2018 firm had assets of ¥ 75,000 including cash ¥ 5,000. The partners
Capital Account showed a balance of ¥ 60,000 and reserve constituted the rest.
Normal rate of return is 10% and the goodwill of the firm is valued at ¥ 24,000
at 4 years purchase of superprofits, find the average profits of the firm.

5. ‘97 9 ‘T GERR &9 & 3: 17 dfeq § e Rafy fewer 31-3-18 & 7 9&0) o

IR %o gRERT o
SRELS 4,15,000 | §% § %3 2,65,000
Red o 40,000 | W ot 30,000
ISl @ - IR 1,60,000
‘o 3,00,000 | ©f® 2,00,000
i 1,60,000 | g 10,000
b RG] 2,50,000
9,15,000 9,15,000

1 3B, 2018 1 ‘@ P 1/4 AN B T dEerd § 7 ot 9X e f&ar m

(@) ‘@ % 1,00,000 T&f T T 50,000 @AM & &4 F M 6, Fed @ @fa &
1/2 9F ‘&7 g ‘F’ g e fomm @ R

(b) i g HrGER ® 10% | HH 6T T 9 5% WEM g R0 & [ 38R 9 0
foel O 9 T

() 9 9 20% & TF T B

(d) ¥ 10,000 F TF AR/ & Sk &R & AW & ¢ BHr @

(€) ¥ 6,500 @ TH HE S AR H EA B 98 e AF e R IEd @ie
ERIRIE

MATH QA T3 9 Reafq fGaer T 6

5608/(Set : D)/ |
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5608/(Set : D)

'A' and 'B' share profits in 3 : 1. Their Balance Sheet as at March 31, 2018 was

as follows :

Liabilities Rs. Assets Rs.
Creditors 4,15,000 | Cash at Bank 2,65,000
Reserve Fund 40,000 | Bills Receivable 30,000
Capital Account : Debtors 1,60,000

‘A 3,00,000 | Stock 2,00,000
'B' 1,60,000 | Fixtures 10,000
Land and Building 2,50,000

9,15,000 9,15,000

On April 1, 2018 'C' was admitted into partnership for 1/4 share on the

following terms :

(a) 'C' pays? 1,00,000 as his capital and ¥ 50,000 for Goodwill. Half of which
is to be withdrawn by 'A' and 'B'.

(b) Stock and Fixture be reduced by 10% and 5% provision for doubtful debts

be created on Debtors and Bill Receivable.

(c) Value of land and building be increased by 20%.

(d) A liability to the extent of ¥ 10,000 should be created as a claim for

damages.

(e) An item of ¥ 6,500 included in creditors is not likely to be claimed and

should be written back.

Prepare necessary Accounts and prepare Balance Sheet.

5608/(Set : D) / |
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AYAT

OR
HEER & EHN T HH W TR @ ARl & T #b A S 8 7
I ol B FERAT § JTHeAIB Gl SET 6

Why are assets and liabilities revalued at the time of retirement of a Partner ?
Prepare Revaluation Account with the help of an example by taking imaginary

figures.
T -9
PART - B
(@9 @ wd i e & )
(Company Accounts & Analysis of Financial Statements)

6. ST B T FA H W Faftedr BT AT S Hr RIS diftem W oA () WfEw
T el foedr T, (i) ST e w@m 2

Write journal entries of Share Forfeiture when the shares have been issued at
premium and when the amount of premium : (i) not received, (ii) received.

7. &7 [o 3 #&@N ffo & ¥wR@l T 25,00,000 AR RE T 6,00,000 & T 4
yiawd & ®9 ¥ 10,000 THaT U T 100 Ui HT 10% WEem w g e e
% 11,00,000 % g & ERT PN FFU T SHa Hafedr 2

King Ltd. took over assets of ¥ 25,00,000 and liabilities of ¥ 6,00,000 of Queen
Ltd. King Ltd. paid the purchase consideration by issuing 10,000 Equity
Shares of ¥ 100 each at a premium of 10% and I 11,00,000 by Bank Draft.

Pass journal entries.
8. ‘Tl A g ‘HESE HFA F o ofR © 7 2

What is the difference between 'Private Company' and 'Public Company' ?

5608/(Set : D)/ |



10.

11.

12.

(7) 5608/(Set : D)

'A' fdo FH1 9 'B' fdfo 9 & ¥ 5,40,000 H TR HT %9 A1 A’ o ¥ 10% FoTgH
% 100 9T Fo0a & R 20% Sifttem ® fran sea sfaftedr #3 2
'A' Ltd. Co. purchased assets from 'B' Ltd. Co. for ¥ 5,40,000. 'A' Ltd. issued
10% debenture of ¥ 100 each at 20% premium. Pass journal entries.

'B' fifo 7 635, 9% UM T 500 F Fods @ Frifta fhw SHa ufafed &% 3 et
1 T 5% 82 W, AR M 10% HfEed ) R 2 2

'B' Ltd. issued 635, 9% debentures of ¥ 500 each. Pass necessary journal
entries if debentures were issued at 5% discount, redeemable at 10%
premium.

dfea i 7 Tolrm de § @ o ® 7 2

State the differences between 'Reserve Capital' and 'Capital Reserve'.

(@) 'Y ffo I 300 a1 T 10 wfd i1 FMC T, T 7 iy ST F ST, Bl A=MANR 2 B
TAE T 8W W & fomm & & 100 ofeft & ¢F: fow ¥ 6 o g o
T fear @
g it ofell o o=l % fow o sfaRedr Ht 2

(b) 'Z' fffo F 600 A T 10 Ufey A &1 &I, Y&l e X 3 il ST B PN A B
UM % HRO {6, gE0 AT % 2 Ui oY 1l T 4TS R e 39 & 200 3
% 8 9 s qofed &l X 7 9 ofsr H g Frifte & Rar
g: Frifa el @ o=t & forg S sfaftedr &) 2
(@) 'Y' Ltd. forfeited 300 shares of ¥ 10 each, ¥ 7 called up, for non-payment

of Ist call of ¥ 2 per share. Out of these, 100 shares were immediately

re-issued at X 6 per share.
Pass the necessary journal entries for forfeiture and reissue of Shares.

(b) Z Ltd. forfeited 600 shares of ¥ 10 on which Ist call of ¥ 3 per share was
not received, the IInd call of ¥ 2 per share has not yet been called. Out of

these, 200 shares were reissued as X 8 paid up for I 7 per share.

Pass the necessary journal entries for forfeiture and reissue of Shares.

5608/(Set : D) / | P.T.O.
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qMT -9
PART - C
(Fgelga Jai)

(Computerized Accounting)

6. GUI W U% dferg e ford 2

Write a short note on GUI (Graphical User Interface).

7. MS-Access & § 3199 ford| 2

Give two components of MS-Access.

8. dedie i & fIAvad FaEy 2

Give two features of Electronic Spreadsheet.

9. HYPd AGHT § AT TN THAA § 7 2

What do you mean by Computerized Accounting ?

10. FFH q@ied B & fadvan ARy 2

Write two features of Computerized Accounting System.

11. RS TEsdr 1 & ? 2

What is Referential Integrity ?

12. 8 791 ® ? 00 9 & R it gasu 4

What is Query ? Describe the various methods of creating Query.

5608/(Set : D)/ |
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A

ACCOUNTANCY
AT - 11
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(aEgfrs 9%)

(Objective Questions)
ACADEMIC/OPEN
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o F T F G B G B 57 99707 § JRT 7T 16 T 797 44 (16 + 14 + 14) &

Please make sure that the printed pages in this question paper of Part-II are 16 in
number and it contains 44 (16 + 14 + 14) questions.

o gheEreff 7T T To FIT-UH T 9T [rd)

Candidates must write their Roll Number on the question paper.

o YT 49 1 FUT 37 @ (@ 798 FERad &Y d [ geT9H [ T & 8, qhEr & IuT 59
G § 25 4 @ w@hwre Tl A aam

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G 7397 -
(i) T8 Fo7-97 T 9 7 e & -
T — O : STTHE] TeT TF FEaT] Gy
T - § : G @7 9T AT [l E Ry

9T - - FGRHT AGHT]
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(i) T - oF SffarF & e v F°OT & AT - § T AT - T F A FHE G AT

&7 &1/
(iii) GH FIT BT BT &1 JAF J97 1 G F &1 @& TGV A Fav-GhRawr 7 kg

General Instructions :

(i)  This question paper is divided into three Parts :

Part - A : Not for Profit Organizations & Partnership Accounts.

Part - B: Company Accounts & Analysis of Financial Statements.

Part - C : Computerized Accounting.

(i) Part — A is compulsory. Candidates have to attempt any one part from
Part - B and Part - C of their choice.

(i) All questions are to be attempted. Each question carries 1 mark. Write the
correct answer in your answer-book.

T - A
PART - A
(TRt HeE U WSt @)
(Not for Profit Organizations & Partnership Accounts)
1. 9 iR M @ T RBRid & 6 1
(4) Sfie (B) wfee AY
(C) onf¥re a1 &l (D) Uit ff
Receipts and Payments Account generally shows :
(A) A Debit Balance (B) A Credit Balance
(C) Surplus or Deficit (D) Capital Fund
2. =1 & @ F-a1 Joier i & ¢ 1
(A) STSie FEE o (B) 3™
(C) == (D) =R | &=

Which of the following represent Capital Receipt ?
(A) Life Membership Subscription (B) Donation

(C) Subscription (D) Interest on Investment
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3. TEREN H BH § T Bl © 1
(A) @ (B) Tle &
(C) @il Tg Toie &l (D) UEH H
The relation of partner with the firm is that of :
(A) An owner (B) An Agent
(C) An owner and an Agent (D) Manager
4. HEEN §0@ S 1
() e B
(B) foRed & aifvemd B
(C) offard & &

(D) ST F & Fi3 T

Forming of Partnership Deed is :
(A) Mandatory

(B) Mandatory in writing

(C) Not mandatory

(D) None of the above

5. W HAJUq - 1
(A) AT STFHIT — G S (B) g STFHIT — 741 S
(C) U TN — o1 S ST (D) 9 WIS U — I ST
Sacrificing Ratio :
(A) New Ratio — Old Ratio (B) Old Ratio — New Ratio
(C) Old Ratio — Gaining Ratio (D) Gaining Ratio — Old Ratio
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6. fHHl T4 WEER H wEE’ | B ST Ewd © 1

(A) Fpdl fl TF HEER @ HeEld @

(B) @EERI % SgAT &%l el 9

(C) &l QA WHERI H Fqewi q

(D) IO HEER % 2/3 Wl B HeAld |

A new partner may be admitted into partnership :

(A) with the consent of any one partner

(B) with the consent of majority of partners

(C) with the consent of all old partners

(D) with the consent of 2/3 of old partners

7. TR QAR 3 : 2 B G H @ dred 31 TS B 1/4 W BT AHER SR T

S STqAT R TR AT A1E’ W IUS-aNE] A YAl 81 AT A B 1
(A) 9:6:5 B) 19:11:10
(C) 3:3:2 D) 3:2:4

'X'and 'Y' are partners sharing profit in the ratio of 3 : 2. 'Z' was admitted with
1/4 share in profits which he acquire equally from 'X' and 'Y'. The new ratio

will be :
A) 9:6:5 (B) 19:11:10
(C) 3:3:2 (D) 3:2:4
8. IR AT EER TN P THH T AT &, A 3§ sel T 1
(A) T STYU H (B) YN N STIU H
(C) T T A § (D) Tt srguma #
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If the new partner brings his share of goodwill in cash, it will be shared by old
partners in :

(A) Sacrificing Ratio (B) Old profit sharing ratio
(C) New profit sharing ratio (D) In capital ratio
9. HERER & FAHET FET A W T H A fheeb T @ F dise & e ? 1
(A) SR T&T FH I HEER B (B) 9 HERRI &
(C) &T BRI & (D) ST & | HF T

On retirement of a partner, goodwill will be credited to the Capital Account of :
(A) Retiring Partner (B) Remaining Partners

(C) All Partners (D) None of the above

10. O, ‘¥ F W 4:2: 1% TJUA 7 I Sled 5T UERER &1 A o7 & S TeoT B

W T g @ H TSI 3: 178, A AT AT ST RN 1
(A) 3:13 (B) 13:3
C) 3:1 (D) 12:5

'A', 'B' and 'C' are partners sharing profit in the ratio of 4 : 2 : 1. If the new
ratio of 'B' and 'C' is 3 : 1 on the retirement of 'A’, then what will be the gaining

ratio ?
(A) 3:13 (B) 13:3
€) 3:1 (D) 12:5
11. ¥EER @ OO @R 8 W #9-8 @0 O o 8 7 1
(A) Fa T @ (B) ¥aw =Y @R
(C) Tf @ Jar =g @w (D) ST I ofemar = @
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Which accounts are opened when the capital are fixed ?
(A) Only Capital Accounts

(B) Only Current Accounts

(C) Capital Accounts as well as Current Accounts

(D) Either Capital Accounts or Current Accounts

12, TEERI # $o W = Sfye fen st 1
(A) wH-g @ H
(B) W¥-BIY FHREISH & |
(C) = @ |
(D) Ui @ &

Interest on partner's capitals will be credited to :
(A) Profit and Loss Account

(B) Profit and Loss Appropriation Account

(C) Interest Account

(D) Partner's Capital Accounts

13. 1 ¥, 2019 H TF EER A B4 & T 50,000 H AR i @ TEed dqg 3

HE H 31-12-2019 H I AN FHART 1
(A) % 3,000 B) I
(C) 2,500 (D) % 1,800

On 1st March, 2019 a partner introduced in the firm additional capital of
% 50,000. In the absence of partnership deed, on 31st December, 2019 he will
receive interest :

(A) % 3,000 (B) zero

(C) %2,500 (D) 1,800
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14. R WEERI & ST & O 7 & g3 @1, f fhae @9 & ST I Sl o 7 1
(&) 1 9E
(B) 3 HE @l
(C) 6HE @l
(D) 12 78 &

If date of drawings of the partner's is not given in the question, interest is
charged for how much time ?

(A) 1 month
(B) 3 months
(C) 6 months

(D) 12 months

15. ‘T q ‘S qE-8 H T dfed 81 1 9B, 2010 ¥ ¥ -8 B 4 : 3 oU A
dfe T WeAd gU A fase § uReee & BRer A A Wi ofeEr @nt e
B 1

(A) @ R B) @ L
14 14
4 3

(C) s e - (D) & =

'A' and 'B' were partners sharing profits or losses equally. With effect from 1st
April, 2010 they agreed to share profit in the ratio of 4 : 3. Due to change in
profit sharing ratio, B's gain or sacrifice will be :

(A) Gain 1 (B) Sacrifice 1
14 14
(C) Gain % (D) Sacrifice %
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16. T% %4 ZX H9Q T UBA 9 a8t & o9 Ud &Y 39 ¥R & ¢ ¥ 12,000; ¥ 13,000;
% 14,000; % 18,000 AR X 2,000 (M) & a¥ & HF % MUK G SN B Ted 8NN : 1
(A) T 23,600 (B) ¥ 22,000
(C) ¥ 1,10,000 (D) % 1,18,000
The profits earned by a business over the last 5 years are as follows : ¥ 12,000;

% 13,000; % 14,000; X 18,000 and X 2,000 (loss). Based on 2 years purchase
of last 5 years profit, value of goodwill will be :

(A) R 23,600 (B) R 22,000
(C) ¥ 1,10,000 (D) % 1,18,000
1 -9
PART - B
(® 9 @ ud i e & )
(Company Accounts & Analysis of Financial Statements)
17. T B B coovennns BT B 1
(A) TIF JuIE STRA™ (B) ¥R Siad
(C) Wiff i (D) S @f
A company has ............ .
(A) Separate legal entity (B) Perpetual existence
(C) Limited liability (D) All of the above
18. T HHI Hl FHIOT fam e @ 1
(A) dEs & faw sffEE g (B) & fAftEw &R
(C) faf e & (D) &&= 3
A company is created by :
(A) Special act of Parliament (B) Companies Act
(C) Investors (D) Members
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19. HHI % Toff B8 gEal o fawem o &, B e o ® ¢ 1
(A) RO (B) ST
(C) i (D) U8
Capital of a company is divided in units, which is called :
(A) Debenture (B) Share
(C) Stock (D) Bond
20. FA H Fived X | s e R s g ? 1
(A) GHaT SITERAT B (B) aiferepr Sfereniar
(C) ROTGAETRET I (D) SEcihl &
To whom dividend is given at a fixed rate in a company ?
(A) To Equity Shareholders (B) To Preference Shareholders
(C) To Debentureholders (D) To Promoters
21. dfe ot 7 @ ART B B 1
() ol (B) g I
(C) Tt d=& (D) A T N
Reserve Capital is a part of :
(A) Called up Capital (B) Paid up Capital
(C) Capital Reserve (D) Uncalled Capital
22. FE AUMEH & FPAR FAaH AR BN RN HA FEOHAT B freiRa ®T &
T¢ B )
(A) 25% (B) 50%
(C) 90% (D) 100%
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According to Companies Act, Minimum subscription has been fixed at ...........
of the issued amount.

(A) 25% B) 50%
(C) 90% (D) 100%
23. ROUGEEN B B .o B Bl 1
(A) @rl (B) I
(C) TR (D) s
Debentureholders are ............ of the Company.
(A) Owners (B) Customers
(C) Creditors (D) Promoters
24. FOH YERIT F 8 1

(A) A & BRI HT

(B) &HaT SAERAT & faf=T

(C) &l | Tl & K

(D) & & YR R

Debentures represent the :

(A) Long term borrowings of a Company
(B) Investments of Equity Shareholders
(C) Directors shares in a Company

(D) Short term borrowings of a Company
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25. FA & RO H FRIHG AT ST HERT © 1
(A) B B S (B) ¥ <Tehe S &
(C) Her® oy & &7 ¥ (D) STIH H15 A
Debentures of a company can be issued :
(A) For Cash (B) For consideration other than cash
(C) As a collateral security (D) Any of the above

26. FOE! & M T A B A @A H SEAART [bAT I & 7 1
() ot e (B) UMY G @
(C) RifT wus @ (D) qTH-B feReT

Profit on redemption of debentures is transferred to which account ?

(A) Capital Reserve Account (B) General Reserve Account
(C) Sinking Fund Account (D) Statement of Profit & Loss
27. T %vs @ & A9 A FERT HA © 1
(A) 3fFE W (B) #feT AW
(C) T 3f¥T 7 hise AW (D) Sfee I wigT 9w

Balance of Sinking Fund Account always shows :
(A) Debit Balance (B) Credit Balance

(C) Neither Debit nor Credit Balance (D) Either Debit or Credit Balance

28. FOOF M T WEEH ...ooeeeen. grar gl 1
(A)  FwRT (B) <R/
C) =1 (D) ™
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Premium on redemption of Debentures Account is :
(A) Asset (B) Liability

(C) Expenses (D) Income

29. W= ¥ § -1 9 GF & ?
() e Goft = Frfr o
(B) frpd Ioft > Frf G
(© T T > e ol
(D) ST F & Fi3 T
Which of the following statements is true ?
(A) Authorized Capital = Issued Capital
(B) Authorized Capital > Issued Capital
(C) Paid up Capital > Issued Capital
(D) None of the above
30. TH HFF &l AT Yol B S BN ©
(A) uNE Htag o (B) UNE STve® #
(C) SieareT (D) T SfeEer &
Authorised capital of a company is mentioned in :

(A) Memorandum of Association (B) Articles of Association

(C) Prospectus (D) Statement in lieu of prospectus
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AT -9
PART -C
(Fega wEi)

(Computerized Accounting)

17. JEHRRT ae fhe omeaR W fspied fhd o § ? 1
(A) AGT TR (B) @ uRurfes
(C) (A) 3R (B) Al (D) I & e o T

Accounting Packages are developed on the basis of :

(A) Accounting Concepts (B) Accounting Conventions
(C) Both (A) and (B) (D) None of the above
18. JTHRIET Yaol fhe SR & HIFedaX © 7 1
(A) faEw gt (B) Uwiihe W)
(C) IR diweaay (D) SR
What type of software is an accounting package ?
(A) System Software (B) Application Software
(C) Utility Software (D) Basic
19. FYHA @l Yol & e & 1

(A) ST, RUE, @ 98, difea, seaa
(B) TR, BEAAT, I, Sl

(C) 3@, HIET, kAT, IF3ed, HRTYT
(D) W, SihaT, B, WtedaX
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The components of computerized accounting system are :
(A) Data, Report, Ledger, Software, Hardware

(B) Software, Hardware, People, Procedure

(C) Data, Coding, Procedure, Objective, Output

(D) People, Procedure, Hardware, Software

20. M FH T d TG S & FNHCT § B 1
(A) TERET, TS ofR At
(B) UoN, HafwEl, AT, o R @@
(C) TN, shEd, o SR 2
(D) oW, ITaIRAl, o o @
Grouping of Accounts means the classification of data from :
(A) Assets, Capital and Liabilities
(B) Capital, Assets, Liabilities, Revenue & Expenses
(C) Assets, Equity, Revenue & Expenses

(D) Capital, Liabilities, Revenue & Expenses

21. fqwa & g9 ¢ 1
(A) UHee e (B) 3T oiffse
(C) a1 ¥® (D) 2T dfce
Choose the odd one out :
(A) Password Security (B) Data Audit
(C) Data Bank (D) Data Vault

22. 3T A9 ST IAERH B TH ITHCT o (aa/om@) 1
Data analysis is a tool of data warehouse. (True/False)
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23. TUEE GOCHT H FAHH TOMG TG ToaH & 9% (ed e 31 (Vo)

In phased approach the current system is executed after the proposed system.

(True/False)

24. FAE ITNERA GRAMNT ST SR &l (T omaE) 1

Classes are user defined data types. (True/False)
25. Sffeige NG ST 1 & S 9BkdT TX SX Sl R (T oma) 1

Object Oriented programming emphasizes on procedure rather than on data.

(True/False)

26. Fr=faiad Rfftdl 4 @ o 84 § 3T &9 0 & Y W 78] [ar ST e @ 1

(A) T SR ol TEE (B) <F FHoll & &M

(C) ESC Fsit & (D) ST § § B el

Which of the following methods can not be used to enter data in a cell ?

(A) Pressing an arrow key (B) Pressing the tab key

(C) Pressing the ESC key (D) None of the above
27. FHSMC T 7 FrAfoRad & & dH-a1 0 IR #EA J@ o ¢ 1

(A) THgH T B (B) dhsic I G &

(C) IRT 3R ST S (D) aefic Bd HT

Which of the following is not a basic step in creating a worksheet ?

(A) Save workbook (B) Modify the worksheet

(C) Enter text and data (D) Copy the worksheet
28. @l § W . el & e © 1

(A) @ feq (B) &« feq

(C) a9 feu (D) 7 feu
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Comments put in cells are called :

(A) Smart tip (B) Cell tip
(C) Web tip (D) Soft tip
29. Th G & ST b THIH TF H T el © -

(A) WH (B) |6 g

(C) @ g (D) Sffedt &

Multiple calculations can be made in a single formula using :
(A) Standard formula (B) Array formula
(C) Smart formula (D) Complex formula

30. BRWEH T THhd € :

() T (B) FET TG

) = (D) IUUET Tl
Hyperlink can be :

(A) Text (B) Drawing objects
(C) Pictures (D) All of the above
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